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* Underlined words in the script are the answers to the
Dictation exercise.

CHAPTER O1

Main Purpose/Topic

Example
A.(C) B. (B)
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Note-taking
Student’s Problem
Can’t find a book for my economics class

Librarian’s Solution

Copies were just returned this morning.
— Grab it from the cart

Listen to a conversation between a student and a
librarian.

W:Hi. | have a question... Um, | can’t find a book that

I need for my economics class. Could you tell me
where to find it?

M: Have you checked our online system? It will show
whether there are any available copies or not.
Other students may have checked out the book.

W:I have, and it showed that there are two copies
right now. And they should be in the Economics
and Business Section, but | couldn’t find any of
them...

M: OK. Let me have a look... Which book are you
looking for?

W:Um, Modern Economics and Business, by Jack
Harvey. | really need it today.

M: It looks like they were just returned this morning.
They’re probably not back on the shelves yet.

W:Oh, | see. Then when can | check out the book?

M: It's available now. You'll just need to grab it from
the cart.
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Note-taking
The Czechs and Puppet Shows

The Czechs who performed puppet shows continued to
use Czech.

— To preserve their language and culture

— Helped them maintain their cultural identity

Listen to part of a lecture in a history class.

P: From the 15th to 20th centuries, the Habsburg
Empire ruled central Europe. The Czech lands
were among the areas ruled by the Habsburgs.
And interestingly, puppet shows played an
important role here at that time. We’'ll talk about
this today.

In the early 1600s, the Habsburg Empire gained
power over the Czech lands. The Habsburg rulers
forced Czech people to use only German. So, the
Czech people were required to use German in
official documents, laws, and even plays.

However, the laws did not apply to puppet shows.
So, uh, people who performed puppet shows
continued to use Czech. And Czech people told
traditional stories in their native language through
the puppets. Thus, puppet shows allowed the
Czechs to preserve their language and culture.
This led the Czechs to maintain their cultural
identity even under Habsburg rule.
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Listening Practice 1 22p.17
1(D) 2 (A) 3(C)
Note-taking

Student’s Suggestion
Have a discussion session in class

Professor’s Answer

e Take an advanced course
e Join a study group for the class

Listen to a conversation between a student and a
professor.

S: Professor Sherman, do you have a few minutes?
I’'m Jacob Harrington, and | was, uh, hoping
to speak with you about our Introduction to
Philosophy class.

P: Sure, of course. What can | do for you?

S: 'Um, I'd like to suggest having a discussion
session in class. | think it would encourage a
deeper understanding.

P: I see... Um, am | not explaining things clearly?

S: No, no. Your explanations are great. Um, | just
wanted to develop what I've learned in the class
with others.

P: 2Well, this is a beginner course. So, students will
learn the basic material in this class.

S: But it seems like we’re just memorizing the
information...

SHYIt 2 AfO]Q] TS}

o

: You see, memorization is important in learning

because we cannot discuss anything without
basic knowledge.

. Yeah. That makes sense.

. If you want a discussion in class, | suggest

you take an advanced course. It will include a
discussion and require deeper thinking.

. Oh, I didn’t know that. I'll take one next semester.

: 8Also, | recommend you join a study group for

this class. That would provide you with, uh, a
similar experience. You can review class material
and share opinions on related topics with your
classmates.

: That sounds like a great option. Thank you,

Professor!
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Listening Practice 2
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Note-taking
Freezing, Melting, and Boiling Points of Matter

® In a higher place, pressure decreases.

— Boiling point of water is much lower than normal.
e |In a lower place, pressure increases.

— Boiling point of water will go up.

Listen to part of a lecture in a chemistry class.

P: We have already learned about the three states of

matter: liquid, solid, and gas. For example, water
can be a liquid, a solid as ice, or a gas as vapor.
'You see, what causes the difference in states are
environmental factors... uh, like temperature and
pressure. Now, we're going to talk about them in
more detail.

Temperature influences the freezing point,
melting point, and boiling point of matter. Water’s
normal freezing point is 0°C, and water becomes
ice at this point. Above 0°C, ice melts and
becomes liquid. 2Um, its boiling point is 100°C,
and water turns into water vapor at 100°C...

But, remember | mentioned temperature and
pressure? Well, these conditions are true at
normal pressure. What happens when the
pressure is lower or higher? The temperatures
of the freezing, melting, and boiling points can
change under different pressures.

Before | explain this in more detail, there are
some rules you need to remember. Pressure
is affected by height. When you are in a higher
place, pressure decreases. And when you are
in a lower place, pressure increases. Imagine
that you are climbing a mountain. As you go up
the mountain, you’re in a higher place. So, uh, if
you are on top of Mt. Everest, for instance, the
pressure will be very low. At lower pressure, the
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boiling point of water is also much lower than
normal. On top of Mt. Everest, water will boil at
around 70°C. Now, consider the opposite. As
we go down to a lower place like the deep sea,
the pressure increases. Then, the boiling point
of water will go up, too. “There are places in the
deep sea where water will not boil even at very
high temperatures. In extreme cases, water can
remain liquid even at 400°C!
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Listening Practice 3 22p.21
1(C) 2 (D) 3(C)
Note-taking

Student’s Problem

Wants to find a room in a dormitory because of a
research project

Employee’s Suggestion

¢ Find a roommate to share a house

e There is an available room in a dormitory.

Listen to a conversation between a student and a
housing office employee.

M: Hi. | was hoping you could help me with something.

W: Sure. What do you need?

M: 'Uh, | want to find a room in a dormitory. 2| need
to live on campus because of a research project.
| have to come to school early in the morning to
work on it.

W:Oh, but the registration period ended last week.
The notice was on the board on campus and on
the website.

M: I know it's a little late, but my parents’ house is too
far from here. It takes about two hours to get to
school.

W:30K, but why don't you find a roommate to share a
house near the campus?

M: Well, actually, | was going to live with my friend
near the campus, but he got an internship in a
different state... All my other friends have already
found roommates or live in a dormitory.

W:1 see... I'll have a look and see what | can find. If
any student decided to leave a dormitory, then we
can arrange a room for you.

M: | understand.

W:You're in luck! It looks like there is an available
room. Do you have your student ID with you?

M: Yes, here you are. Thank you so much.
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Listening Practice 4

22p.23 CHH, P2[= O] AtRHO| ZoILtl 28t 4= USLICE SEX|ZE A
1®) 2(0) 30) 4 @) 22 ARRISIC} O] S7ts17| TR0 2| 0]2401 Ci Bhalst 4
2012, D a7 YUH Q=2 Re7H AR B 23 His
sie f2ls 1S9 949 YR & 4= L=t 0|22 0[0
7| LHLH 5K S4ELICE Ol 01, ‘B 29| S HAE
Types of Characters in Literature MZISHEMQ. T F0IZO| ME0| HE|Qf AAHTIE SZst
e Flat Characters: Shows only one part of their personality L 72 EL Eo FTQILICH Ol X|M0|T EMARS AR
that doesn't change 0|, 0] 242 Wistx| 40t = 10| 40| 0] & pIS 7
e.g. Dr. Watson in Sherlock Holmes 2510 BOISLICE ©2]7F 70| Aol Cish 20| OF= ZHE OfL|

= = T — 20 LS = A
® Round Characters: More complex and more real £ RIHS AM0M 10| Af0| DE M LIRS S22 (07| 23
e.g. Jay Gatsby in The Great Gatsby She e ST e e e A o= =

| ehELC

CISo=, YAl 21Z0] ASLICE 0|52 HE l=o| Fetl

Listen to part of a lecture in a literature class.
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personalities. So, they seem more like real people.
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Note-taking

Student’s Request

Asks for permission to change the topic of a paper

— New topic: How climate change will cause many fish
to die

Professor’s Suggestion

e Will allow the change
e Talk about how fish loss can affect people
— Add a few paragraphs at the end of a paper

Listen to a conversation between a student and a
professor.

S: Excuse me, Professor Baker? 'l want to ask for

your permission to change the topic of my paper.
It's the one about natural disasters.

P: Sure, David. The paper is due in four weeks. You
have plenty of time to write about a new topic...
Um, what is your new topic?

S: | want to write about how climate change will
cause many fish to die.

P: Tl allow it. 2Um, why did you change your mind?

S: Well, uh, | was inspired by a documentary that |
sawon TV.

P: Tell me more.

S: Well, according to the program, many kinds of
fish will die because of climate change. The, um,
ocean will become too hot for them to live. And,

um, this could happen in the next 10 years.

P: That is terrible! 3And have you thought about what
could happen if we lose a lot of fish in the next 10
years?

S: Um... No, | didn’t think about it that much.

P: Well, billions of people around the world eat fish

regularly... So, if we lose a lot of fish, many people
won’t have enough to eat.

S: Oh... That sounds like a big problem. 4Should |
include that in my paper?

P: 1 think it will make your paper more interesting if
you talk about how fish loss can affect people.

»

| see. Maybe more people will care about the

problem if it affects them, right?

. Exactly. But, um, to be clear, don’t write too much

about it. Just add a few paragraphs at the end of
your paper.

S: | understand, Professor Baker. Thank you!
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Note-taking
Keystone Species
* Predators
e.g. Tiger sharks maintain the population of sea turtles
at a proper level.
e Ecosystem engineers
e.g. Woodpeckers create holes in trees, which other
animals depend on.
* Mutualists
e.g. Flowers provide bees with honey, and the bees help
flowers produce seeds.

Listen to part of a lecture in an ecology class.

P: In every environment, there are keystone
species. Keystone species are very important
for ecosystems. If they are removed, many other
species may not exist. 'Let’s take a look at three
types of keystone species.

First, there are predators. A good example is the
tiger shark. The tiger shark is the main predator
of sea turtles. When there are enough tiger
sharks, the population of sea turtles is maintained
at a proper level. Uh, sea turtles eat seagrass...
and, um, seagrass is important for many kinds
of wildlife. For example, many fish lay their eggs
on seagrass, and, uh, young fish use seagrass
as shelter while they grow up. 2So, um, if tiger
sharks disappear, the sea turtles have no major
predator. If this happens, sea turtles will eat all of
the seagrass, and the other organisms will have
no place to raise their babies.

Next, there are ecosystem engineers. Just like
human engineers, these change the environment.
5An obvious example is the beaver. As you know,
beavers build dams. Their dams turn streams
into ponds, which, uh, other organisms depend

0] Al =0zt Clekst 8t Xtz M2 HackersBook.com

on. But | really want to focus on woodpeckers.
Um, woodpeckers create holes in trees. They use
their beaks to search for insects under the tree
bark. And, um, they also make larger holes. Then
they build their nests in these holes. *Once they
have raised their babies, woodpeckers do not use
the nesting holes anymore. But a wide variety of
other animals do. For instance, squirrels, owls,
and snakes sometimes use woodpecker holes for
shelter or to raise their babies.

Finally, we have mutualists. “Mutualists are
two types of animals that benefit each other.
Thus, they have closely related relationships.
Bees and flowers are examples of mutualists.
Flowers provide bees with honey. And in return,
the bees help flowers produce seeds so that
they can reproduce. So, uh, bees will starve
without flowers. And the number of flowers will
decrease without bees. But it also affects the
entire ecosystem if one of these disappears. For
example, many birds depend on flower seeds
for food, and the number of these birds will be
reduced. And other animals which eat these birds
will decrease as well.
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keystone species iaZ  tiger shark 401 seaturtle HICIHE
population i 4= 017 seagrass EIES

wildlife (@) opi 2 shelter (@) 24I%] organism (&) {7[H|
ecosystem engineer Aef7| Zstx}  obvious Soist Hstst
depend on ~0f| o|&Es}C} o|X[slCt  woodpecker wHrp 2|
focus on ~0i| ZlE3siC}, ~0f Z=2{61C}  beak (Me)) 2|

bark @) LI2ZE  nest (@) (AH2) SX

mutualist A2 ZM ME  inreturn CHAlo), HEfO R

reproduce HAIBICE EAKSICH  Starve 20| =C} F=2|ct

Vocabulary Review 22p.32
1 grab 2 fiction 3 available

4 starve 5 population 6 wealth

7 intelligent 8 inspire 9 traditional

10 (C) 11(B) 12 (A)

13 (D) 14 (B)
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P: An obvious example is the beaver. As you know, beavers

build dams. Their dams turn streams into ponds, which, uh,
other organisms depend on. But | really want to focus on
woodpeckers.
W= ff O Eoh=ot:
P: But | really want to focus on woodpeckers.
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T
A

Example
A.(C) B. (A), (C)

A.

Note-taking
Student’s Problem

An online advertisement is not on school website.

Director’s Solution
Ask any professor for a signature

Listen to a conversation between a student and the
director of campus activities.

W:Hi. I'm looking for the director of campus activities.
M: That's me. What can | do for you?

W:I'm the head of the Literature Club. We applied
to have an online advertisement on our school
website, but it's not there.

M: Um, did you submit all of the forms?

W:I did. | checked them twice. We really need an
advertisement to promote a special lecture. A
famous writer, Katherine Oliver, will be here to talk
about her recent novel.

M: That sounds interesting. Let me take a look and
find out what the problem is... Hmm... Did you get
a signature from a professor?

W: No, we don’t have an advisor... Is there anything |
can do?

M: You can ask any professor for a signature. I'm
sure that one of the literature professors would be
happy to help you.

W: OK, I'll do that.

w
M: HIZ FHL|CH ROIE Zof E2e?
w
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. surface =M Jupiter 24 unique =Est
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director (@) MeIxt head (@) sl&; 0f2| Literature (@) 2st combination (@) Zgh =8t ammonia (@) =L|of
apply to ~of| AIsICtH  advertisement (@) 21 solar energy EHOL4X| layer @) = atmosphere (&) 7|
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find out o=t QokHCt  signature Ny
advisor () X|&= u= =0 2, CHMF | Mol 21010 £|= & 71K @A = FARI7F?
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Note-taking Listening Practice 1 22p.37
Jupiter’s Great Red Spot
o 1(A) 2(B) 3(C)
Why is it red?
— The leading theory
: It comes from a combination of ammonia in the Note-taking
clouds and solar energy. Student’s Problem

Cannot take the test because of a debate contest

Listen to part of a lecture in an astronomy class. Professor’s Suggestion

P: If you look at the surface of Jupiter, you will see * Can double the student’s midterm score
many unique patterns. Um, these patterns are e Can give extra points in class

made by clouds. Jupiter is covered with giant gas
clouds that are much bigger than the clouds on
Earth. Among them, there is a giant red storm

Listen to a conversation between a student and a

called the Great Red Spot. Why is it red, though? i
No one knows exactly what creates this red S: Hi, Professor Anderson. | hope you aren'’t too
color. But the leading theory suggests that the busy. ‘Do you have a moment to talk about next
storm’s color comes from a combination of two week’s test? Uh, | don't think | can take the test.
factors: ammpnia in the clouds and solar energy. P: Oh? Is there a problem?
Um, ammonia forms the top layer of Jupiter’s ,
atmosphere, and it doesn’t have any color. S:Um... 2l was chosen by the debate club to
However, when it meets powerful light from the participate in a debate contest next week. One of
Sun, a material is created that has a red color. the other team members can't make it.
Still, the theory has a weak point... So now, let's P: | see. Well, it's important to participate in school
talk about what the weak point is. activities, so congratulations to you. Um, is this a
big contest?
HEet Zolo| YRE SOA|R. S: It's a college championship. Our team will be
_ ) representing the school.

P: =49l #HE Y, N2 =55 LS8 HAIE AHoR. 8, 0 o

SLSe 20| of3f BES0{El ZIQILICH 2AS X|70 22 P: That's amazing! | hope you do well... But you'll



need to submit a letter from the debate club to
prove that first.

. Yes, | have the letter right here, actually... But, um,
what about the test? | could write a paper on the
topic instead.

: Well, I can double your midterm score to make up
for missing the final.

:Um, | got a low grade on my midterm. It may
not be high enough... Is there any other way to
increase my score?

: Well, you can get extra points in class, too. °If you
participate more in discussions, then | can give
you extra points for that.

. All right, Professor Anderson. That sounds fine.

SHYIF W4 AJO[2 CHSHE SOAR.
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Listening Practice 2 22p.39
1(B) 2(C) 3(A), (D) 4(C)

Note-taking

A Theory of a Black Swan

Conditions for a Black Swan
¢ QOutside of our regular knowledge

* Creates a huge impact on our society
. ‘Earth is flat’” — ‘Earth is round’,

Paper and pens — Internet

Listen to part of a lecture in a psychology class.

P: Who has heard of the Black Swan Theory?

Well, as you might expect, it is related to a black
swan. 'The Black Swan Theory is about a fact or
event that seems impossible. But, the impossible
becomes real with new information. And, uh, this
changes people’s psychology. In fact, it changes
their whole view of reality.

In the old days, Europeans thought that all
swans were white. Imagine that you have seen
thousands of swans, and all of them were white.
You might think that all swans are white. 2Well,
this belief continued for many years because
there were no black swans in Europe. But, uh,
when European explorers traveled to Australia
in the 17th century, they saw black swans for the
first time. This changed their view about what a
swan could be.

The theory was later developed by Nassim
Nicholas Taleb in 2001. In his book, he suggests
some conditions for a Black Swan. ®*At first, a
Black Swan is outside of our regular knowledge.
We can never expect that it is real until we
discover it. ®®But once it is known, it has a huge
impact on our society. Imagine that one day we
find out something that turns our knowledge
upside down. Everyone will be shocked and
confused.

4So, uh, here are some good examples. Once,
people thought Earth was flat. But when they
learned it was round, it changed their thinking
completely. “Similarly, most people could not
imagine communication without paper and
pens. But the Internet changed all of that. It

CHAPTER 02 | Detail
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thousands of £=&29| belief Azt ol
impact (@ & upside down ARz
confused
completely etF35|  similarly ORE7ER|2, HIZ5H|
communication OJAIAE  value Itx|

even changed the way we live. Um, think of how
often you use the Internet every day. Before the
Internet, no one knew how important it would
become. It, uh, surprised everyone. A Black Swan
will only have value after it is discovered, but its
value will be very high.
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Listening Practice 3 22p.41
1(C) 2(B) 3(D)
Note-taking

Student’s Problem
Won’t be available to work at night

Manager’s Answer
Lunchtime shift: Full
— Morning shift: A position is available.

Listen to a conversation between a student and a
food service manager.

M: Hi, are you Ms. Stewart, the food service
manager? | was told to come and speak to you
about a question | had.

W:That's right. Uh, are you one of our student staff
members? How can | help you?

M: Yes. My name is Ryan, and | work on the nighttime
shift from 6 to 8 p.m. 'But | was wondering if |
could ask for a change of shift.

W: Are you having problems with other staff members
on the nighttime shift?

M: No... 2Um, you see, | won't be available to work at
night. | joined a band and, um, | need to practice
in the evenings.

W: 1 see. So which shift are you interested in?
M: I want to move to the lunchtime shift if it's possible.

W:Well, the lunchtime shift is full. It's the most
popular shift among the student staff.

M: Well, what about the morning shift? 3| was worried
about waking up so early, but if there’s no other
option...



W:One of the students on the morning shift just quit,

S0 we have a position.

M: I guess I'll have to take that one, then. Thank you

for your help, Ms. Stewart.

St 54 Z2|AF AfO|2| CHatE SR

: OHASIMIS, 24! Rt2|XI0] Al Stewarth|@17t2? X

) 7t
U= StewartAH| 7HA] Of7 [otH EICH= 2

l
mjo
uin
2
2

(Slote. of, 22| ol Hpl B ot Felvter fas e

()

ne?

Note-taking
Sediment

: Loose rocks and minerals that are broken down over

time
Sediment Transport
* By wind e.g. Sand hills called dunes

e By water e.g. At the bottom of a waterfall

Listen to part of a lecture in a geology class.

P: People don’t think about sediment, but it's very
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Listening Practice4
1(B) 2 (A) 3(C) 4(C)

important. Sediment is rocky material that is
moved from one place to another. It can be
found everywhere... in the mountains, the desert,
and even the sea. It helps us grow food and
contributes to a healthy environment... 'But, what
exactly is sediment, and how does it move from
one place to another?

So, first of all, sediment is made up of loose rocks
and minerals that are broken down over time.
However, it also contains tiny parts of plants and
animals that, uh, are left behind after they die...
2Individual sediments come in many sizes, too.
Sometimes, they are as small as a grain of sand.
Other times, they can be as big as a large rock or
stone.

Because sediment is made up of loose material,
it is easily moved around... The way that this
happens, um, scientists call this process sediment
transport... It occurs mainly through wind and
water.

First, there is wind. Strong wind breaks down
rocks and moves soil, sand, and dirt across long
distances. %As sediments are blown by the wind,
they hit each other and break down into smaller
pieces. Eventually, they collect into large piles or
are moved across a wide area. In fact, wind is the
main cause of sediment transport in the desert.
Wind mostly moves away sand. This sometimes
creates large sand hills called dunes.

Second, we have water. Heavy rains, ocean
waves, and fast-moving rivers can cause rocks
to become loose and transport sediment to other
places... Um, you'll often find lots of sediment at
the bottom of a waterfall. You know, the power of
a waterfall is very strong, so it makes sediment
fall to the ground. “But the largest amount of
sediment is collected, um, where rivers enter the
sea.
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Note-taking
Student’s Question

Wants to study psychology as another major
— Can you tell me how to apply?

Application Process

e Complete basic requirements
* Meet with the head of each department
e Write a letter stating you will complete your majors

Listen to part of a conversation between a student
and a professor.

S: Hello, Professor Morris. Can | talk to you? | was in
some of your classes before. My name is Alice.

P: Of course, Alice. | remember... You're majoring in
business management, right?

S: Yes, that’s right. 'I'm here to ask for your advice...
As | said, | took a few of your psychology classes

sediment E[XE  rocky QtAfo|

contribute to ~0f 7|0{slC} 2I210| €|t loose 22 22|

mineral =2 tiny o= A2

transport (@) 2tk (5)28t6iCH  occur (5) LOfLIC LAsict
break down ~2 2Lt  soll EQF  dirt ;
eventually (&) Z= collect (§) Zo|ct 2oCt

pile Col, =/l =272 heavyrain £2  waterfall Zzn

before. Um, but now | want to study psychology as
another major.

P: Oh, is that so? I'm happy to hear that. 2But why do
you want to study psychology as a second major?

S: Well, | want to be a marketing professional
after college. |, um, think understanding human
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behavior will help in that field. You know,
marketers need to know how consumers think.

P: You're right, it will be helpful! In that case, majoring
in both business management and psychology
will be perfect for you. That way you can become
a professional in both areas.

S: “Yes, but I'm worried too because it sounds
difficult. Do you think | can do it?

P: | am sure of it. You're intelligent and you work
hard. Um, how are your grades? Are they good?

S: Thank you, yes. I'm doing well in all of my classes.
Um, can | ask one more thing? 3Can you tell me
how to apply?

P: Well, first, you have to complete all of the basic
requirements for each major. Then, you should
meet with the head of each department. Lastly,
you should write a letter stating that you promise
to complete your double major.

S: Thank you for that detailed information, Professor
Morris. I'll give it a try.
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Yes, but I'm worried too because it sounds difficult. Do you
think | can do it?

| am sure of it. You're intelligent and you work hard.
M= 9f [ stk

P: 1am sure of it.
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Note-taking

Sustainabilit
: Natural resources can be used today and in the future.

Natural Resources

* Renewable Sources: Can easily reproduce themselves
e.g. Most plants and animals
e Non-renewable Sources: Cannot be created easily and
take millions of years to form
e.g. Gold, silver, coal, natural
gas, and oil

Listen to part of a lecture in an environmental
science class.

P: Sustainability means that we can continue to do
or use something in the future. 'When we > talk
about natural resources, sustainability means
we can use these resources today and in the
future... possibly forever. But we must manage our
use of natural resources properly to keep them
sustainable.

Generally, there are two kinds of natural
resources. The first is renewable and the second
is non-renewable. 2Renewable resources easily
reproduce themselves. For example, most plants
and animals can reproduce, so they are naturally
renewable... This allows us to use them without
limitation. On the other hand, the amount of gold
and silver on Earth is fixed. This means that these
resources are not renewable. Once we use all of
them, they cannot be created easily. Similarly,
coal, natural gas, and oil take millions of years to
form. They may be produced someday, but not
in one lifetime, so we can say that they are non-
renewable.

So, uh, obviously we must be very careful with
non-renewable resources. But, um, we must also
pay attention to how we use renewable ones.
Renewable resources are only sustainable if we
use them wisely. Well, let’s look at the example of
forests. We know that trees naturally reproduce.
But did you know that forests can disappear?
Humans have always used wood for many things
like paper and buildings. *We also cut down trees
for agriculture, which happens on a Iarge scale. A
recent study found that 18 million acres of forests
are removed each year. If we keep cutting this
number of trees, forests will not be sustainable.
For example, already 20 percent of the Amazon
rainforest has been lost forever.
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So why is the sustainability of natural resources
important? Well, let me continue explaining this
with forests. They provide many organisms with
a home. “When we misuse the forest, many
species can disappear forever as well. You know,
living things are connected to each other, so this
will eventually affect us, too. “®Also, misuse can
make climate change worse. Trees take in carbon
dioxide from the air and release oxygen, right?
5Global warming will happen much faster without
enough trees. So, um, protecting our forests is
not just an option anymore... We cannot wait any
longer.
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P: Global warming will happen much faster without enough
trees. So, um, protecting our forests is not just an option

anymore... We cannot wait any longer.

DA 9l 0|7 stk

P: So, um, protecting our forests is not just an option

anymore...
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Vocabulary Review £2p.52
1 misuse 2 promote 3 communication
4 prove 5 find out 6 belief
7 value 8 renewable 9 contribute to
10 (D) 11 (C) 12 (B)

13 (B) 14 (A)

CHAPTER 03

Function

Example

2p.55

Tt
A

A.(C) B. (B)

A.

Note-taking
Student’s Question

Would like to ask for some advice about my paper

Professor’s Answer

A paragraph is not related to the topic.
— Compare the outline and the draft

Listen to a conversation between a student and a

professor.

S: Professor Ross, I'd like to ask for some advice
about my paper. Here’s my paper...

P: We were supposed to meet 30 minutes ago... Why
are you so late?

S: Uh, | had a problem with the printer. | finished
writing the paper yesterday, but the library printer
had an error this morning.

P: Oh, | know about that printer. I've had the same
experience myself... Well, it’s fine. We can
discuss your paper now.

S: Thank you for understanding.

P: Let's see... Overall, it seems fine, but the third
paragraph is not exactly related to the topic.

S: Oh, | didn'’t realize that. | think | made the same
mistakes in my last paper, too.

P: After writing a draft, you should compare the

_Jolr

S:

p:

outline and the draft to make sure everything is
related to the topic.
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S: | finished writing the paper yesterday, but the library printer
had an error this morning.

P: Oh, | know about that printer. I've had the same experience
myself...

uaE 9 oA Esh=7k:

P: Oh, | know about that printer.

B.

Note-taking

How Antelope Squirrels Control Their Body
Temperature

Sweating is not a good way to cool down.
— Instead, they dig deep holes and go inside them.

Listen to part of a lecture in a biology class.

P: Many animals can naturally control their body

temperature through sweating. But not all animals
have this ability. Instead, some animals depend
on the environment around them. An example of
this is antelope squirrels.
Antelope squirrels live in very hot, dry places
like deserts. They look for food during the day
under extreme heat, so their body temperature
increases. But because of their small size,
sweating is not a good way for them to cool down.
If they sweat to reduce their body heat, they will
lose too much moisture. You know what happens
when you lose moisture in dry places... It becomes
hard to survive. So, instead, these squirrels use
the environment. They dig deep holes that are
cool and dark inside. Once they go inside the
holes, their body temperature drops very quickly.
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P: If they sweat to reduce their body heat, they will lose too
much moisture. You know what happens when you lose
moisture in dry places... It becomes hard to survive.

W= O Fetezi £312 Qolsh=rk:
P: You know what happens when you lose moisture in dry
places...
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Listening Practice 1 22 p.57
1(C) 2(B) 3(C)
Note-taking

Student’s Problem
Failed a class and received a letter from the school

Employee’s Suggestion
» Stay in a dormitory on campus
 Take the class again next semester

Listen to a conversation between a student and a
registrar’s office employee.

M: Excuse me. 'l received a letter from the school
last week. It says that I, uh, failed one of my
classes. Does the school usually send letters like
this?

W:Yes, a letter is automatically sent to students’
homes when they fail a class.

18 oj AS 0=k C}Yst 54 K12 X2 HackersBook.com

: Oh, | didn’t know that... This is the first time that

it has happened to me. Um, do you know why |
failed the class? It wasn't explained in the letter.

W:You should ask your professor for details. But,

the system shows that you were often late for the
class and missed it several times.

M: That’s true... |, uh, thought it would be easy to

attend a 9 a.m. class. But, it was difficult to get to
the campus on time.

W: What seems to be the problem?

M: Um, | live more than an hour away from campus.

So, | have to wake up very early to get to school
on time.

W:1 see. 2Perhaps you could stay in a dormitory on

campus. It would be much more convenient.

M: | will definitely consider that. *But, what about the

class? | need to pass it in order to graduate.

W:Don't worry. There’s always another chance. The

class will be offered again next semester.

M: All right. I'll sign up for it then. Thanks!
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graduate.
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Listening Practice 2 22p.59
1(D) 2(C) 3(D) 4 (B)
Note-taking

The Design of Sagrada Familia

* Gothic style

e Art Nouveau: Lots of curved lines and complicated
decorations

e Catalan Modernism: Shapes copied from nature

e Playful designs from Gaudi’s own imagination

Listen to part of a lecture in an architecture class.

P: Recently, we were discussing the architecture of
famous churches around the world. 'One of the
most famous churches is the one in Barcelona,
Spain. It's called Sagrada Familia, and it attracts
millions of tourists a year. Let’s talk about its
design.

So, the construction of Sagrada Familia started
in 1882. Its original architect was, uh, Francisco
del Villar. He designed the church in the Gothic
style, which includes pointed windows and
sharp towers. Unfortunately, del Villar had a
disagreement with the builders of the church. So,
he was replaced by Antoni Gaudi in 1883. 2Gaudi
was only 31 years old when he took over Sagrada
Familia’s construction, which was, uh, quite
unusual. However, Gaudi was already known for
his creative designs at this age.

Gaudi decided to keep some of the original Gothic
ideas, like, uh, the building plan in the shape of
a cross. But Gaudi also changed many other
features... 3He combined the Gothic style with Art

Nouveau, which features lots of curved lines and
complicated decorations. So, um, you’ll notice
other characteristics of Art Nouveau throughout
the building. There are lots of dramatic shapes
and decorations... And, uh, he also included
features of Catalan Modernism, such as shapes
copied from nature, as well as playful designs
from his own imagination. Gaudi’s idea was to
have a church that was full of light and color. He
was careful about every detail.

. Um, is that why its construction was never finished?

: Well, that's probably one reason. Gaudi worked

on Sagrada Familia for over 40 years! What else
can | say? Only a small part of it was complete by
the time he died in 1926. After his death, other
architects were hired to finish the building based
on Gaudi’s ideas.
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P: He was careful about every detail.

S: Um, is that why its construction was never finished?

P: Well, that’s probably one reason. Gaudi worked on Sagrada
Familia for over 40 years! What else can | say? Only a small
part of it was complete by the time he died in 1926.
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P: What else can | say?
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Listening Practice 3 22p.61
1(D) 2(B) 3(A)
Note-taking

Student’s Question
A class is full. > What are my options?

Advantages of Online Courses

e Can save time on your commute
 Can replay the course videos to review lessons

Listen to a conversation between a student and a
registrar’s office employee.

20  20f 422 F0jk Chest 8 At M2 HackersBook.com

W:Hello. My name is Victoria, and | have a question

M

to ask you about a course.

: Sure, Victoria. How can | help you?

W:'Well, | wanted to sign up for Professor Wilson’s

course on Russian history, but, um, | found out
that the class is full. I'm wondering what my

options are.

: 2Let me check on my computer to see if there are

similar courses... Hmm... That course is offered
online. Does that interest you?

W:Um, | think that taking a course in person would

be better... | can meet the professor and ask
questions right away.

: lunderstand, but it is the only class about Russian

history for this semester. Also, | recommend you
take it. ®You see, online courses offer several

advantages.

W:What do you mean?

M:

Well, you don’t need to come to school, so you
can save time on your commute... Um, you can
even replay the course videos if you need to
review class material.

W:1 like that | can review lessons easily.

M:

And even though it’s online, all the lessons from
the class will be the same. Your assignments will
still be checked by Professor Wilson, too.

W:That'’s true. I'll sign up for the online course, then.

ST} SI(t 29l Aol CHEIE SOAIR

=

w: 1

2, M7} Wilson 4o 2{A|OF A} 2

HASIMIR. H| 0|E2 Victoria@lH|, 2+2of| Cifslf 01%= Zd0] 2

220|Z, Victoria. 0197 Zt=E2I7tR7?

0\.1

= 1ol 2 %IE}E ey 5”010

ol
H1

 TYel 2= goluge Ze

| —
—
Wilson 4=EHIAM BRISHA 71 Q.

course (@) Zo|, ¢ signup for ~2 AH5ICH S235iCt
find out & £/t inperson ZF rightaway BiZ, SA|



recommend FHSICH
commute (@) £3 £2; () EdtelC}, E2s6ICt  material b=

(A) 2=0]| CHEH HHE 7] 9|
(B) 22 CHete 2 &7]= 20|l Chsh Lok 2lsl
= 547

O 22 S5 Y2E HYs| 2lsh
(D) H2lE S= Ao thigh MEfX|of chis Lok 2fsh

oy

5

o

0=

10

o

HT N

] 1o

NIz ol

Tu KU Mo mu

ol _\'J_ g _(|J_

0 8o o
5

= 0
Hu
=

tiste| YRE CHAl E1 HZ20| HotAIR.

M: You see, online courses offer several advantages.

W: What do you mean?

M: Well, you don’t need to come to school, so you can save
time on your commute... Um, you can even replay the course
videos if you need to review class material.

sh2 ofzl LatoeM 2212 of0
W: What do you mean?
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Listening Practice 4 22p.63
1(C) 2 (D) 3(B) 4 (C)

Note-taking

Wetlands

: Land areas that are covered in water for a long time
e Types: Freshwater wetlands and tidal wetlands
e Homes for a variety of plants and animals

Listen to part of a lecture in an ecology class.

P: The natural world has many physical environments
with, uh, different characteristics... For example, you
have deserts that are very dry and hot, or uh, forests
that are very green and cool... 'Well, today I'm going
to focus on another environment called a wetland
and talk about its features.

Wetlands are land areas that are covered in water
for a long time. They mainly form when water is
unable to drain fast enough. So, a large amount of
water collects in one area. In general, there are two
types of wetlands. The first are freshwater wetlands.
Fresh water is water that is low in salt, so you'll find
freshwater wetlands near rivers, lakes, and other
sources of fresh water. As you move near the coast,
on the other hand, you’ll find another kind called

o

physical environment 22|& stZ(HIMEX stZ)
drain Hi<E|Ct 20| wHR|CH  fresh water &f4

tidal wetlands. 2You know, tides are when ocean
water rises and falls. Every time this happens,
some water from the ocean flows toward land
and mixes with fresh water, which creates tidal

wetlands.

Now, wetlands are homes for a wide variety
of plants and animals, espemally birds. “‘Many
birds spend their lives in wetlands because they
find shelter and food there. Let me explain it in
more detail. In the Chesapeake Bay, which is
on the east coast of Maryland, you can find both
kinds of wetlands. And more than 250 species
of birds live there. Wood ducks are one of them.
They’re commonly found in freshwater wetlands
near trees. They are the only ducks to make
nests in the holes of trees in this region. In the
Chesapeake Bay’s tidal wetlands, you will find
American oystercatchers. *The Chesapeake Bay
produces about 14 million oysters every year
along its muddy beaches. So, over 50 percent of
the oystercatchers in Maryland come here to eat
oysters.
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P: Many birds spend their lives in wetlands because they find
shelter and food there. Let me explain it in more detail.
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P: Let me explain it in more detail.
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Note-taking

Student’s Question

Can | join the group for the science fair?

— Any advice for activities outside the classroom?
Professor’s Suggestion

Talk to Professor Foster about his new experiment on
artificial intelligence
— Wait for him or come back tomorrow

Listen to a conversation between a student and a
professor.

S: Hi, Professor Greene. Here’s my assignment. Um,
I know it's late, but | had a car accident yesterday.

P: I'm sorry to hear that, Ben, but I'll need an official
document as proof.

S: OK, uh, I'll bring the accident report tomorrow...

22 20f 422 F0ik Clost 84 Ak M HackersBook.com

o

of

2

'But anyway, um, I'm also wondering if | can join
the group you’ve organized for the science fair.

: Well, 'm afraid the group is already full... Many

students wanted to join.

: Oh, no... Um, | really need to do activities outside

the classroom. *I don’t have much time left
because it's my last year here at school. Um, do
you have any advice?

: Sure. Those activities will help with your career

after graduation... Perhaps you could talk to
Professor Foster. 2He is looking for students who
can help him with his new experiment on artificial
intelligence.

: Oh, really? | took one of his classes about artificial

intelligence last year, and | found it interesting. Do
you know what kind of work I'll be doing?

: You will probably gather data and organize the

results of the experiment.

: | think | can do that. I'll go to talk to Professor

Foster right away.

: I heard that he has a meeting this afternoon, so he

will not be in his office right now. *But he should
be back soon. You can either wait for him or come

back tomorrow. I'll let him know that you stopped
by.

: Thanks, Professor Greene. I'll go wait outside. |

don’t have any more classes today, anyway.

: That's fine. Good luck!
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In 1689

William and Mary made many important decisions:
- More power to the people in government
- The right to have free elections

Listen to part of a lecture in a history class.
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S: | don’t have much time left because it's my last year here at
school. Um, do you have any advice?

P: Sure. Those activities will help with your career after
graduation...

4 e 9 oA et=k
P: Those activities will help with your career after
graduation...
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Note-taking
In 1688

A Roman Catholic king James Il had a baby boy.
— Some powerful Protestants formed a plan.
— William and Mary agreed to invade England.

P: OK, where were we last time? Oh, we were talking

about the late 17th century in England. 'Well,
then, let’s start with the Glorious Revolution.

The Gilorious Revolution happened from 1688 to
1689. At the time, England was ruled by a Roman
Catholic king called James II, but England’s
people were mostly Protestant. Protestants
are Christians who separated from the Roman
Catholic Church. The two groups, uh, disagreed
about some Christian beliefs and did not have
a good relationship. 2James Il made many
Protestants angry by trying to introduce policies
that benefited Catholics. He also wanted to
change England’s system of government to give
more power to the king. Despite these concerns,
many Protestants thought they could wait until
James Il died. And, uh, after he died, his daughter
Mary—who was Protestant—would take over.

SUnfortunately, in 1688, James had a baby boy.
This meant that the boy would become the ruler
of England after James |l died, not Mary. That
is when some powerful Protestants formed a
plan. They did not want England to be ruled
by another Catholic and asked Mary and her
husband William, the ruler of the Netherlands,
to invade England. William and Mary agreed.
They, uh, sailed on ships from the Netherlands to
England. James |l tried to stop William and Mary,
but he didn’t have many supporters. So, he ran
away to France, where he eventually died. After
James Il ran away, William and Mary became the
rulers of England without a war. 'Um, this is why
it is called the Glorious Revolution. It happened
without much blood.

Now, William and Mary agreed to rule the
country together, and they made many important
decisions... The biggest one was that William
and Mary promised to follow the laws created by
politicians. “This decision gave less power to the
king and queen and more power to the people in
government. Isn’t that incredible?

This decision changed England’s history forever.
*Because of the Glorious Revolution, England
became a country ruled by politicians instead of
kings... And that’s not all. William and Mary also
gave people the right to have free elections. So,
you can see that they had a big influence on
England’s way of life.
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P: Because of the Glorious Revolution, England became a

country ruled by politicians instead of kings...

And that’s not

all. William and Mary also gave people the right to have free
elections. So, you can see that they had a big influence on

England’s way of life.
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P: And that’s not all.
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Vocabulary Review

1 architecture 2 playful

4 drain 5 moisture
7 recommend 8 take over
10 (C) 11 (B)

13 (A) 14 (D)

22p.72

3 experiment

6 supporter

9 automatically
12 (B)
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Note-taking
Student’s Problem

Doesn’t know where to start with a project



Steps to Make an Outline

1. Write down everything to include
Find the main pointfidea] to focus on

2.

Listen to a conversation between a student and a
professor.

S

P:
: Uh, | searched for information online about my

search (&) M
feellng 718 =7

Hello, Professor Bailey. | need your advice on my
research project.

Sure. What's the problem?

topic, but there was too much of it. | don’t know
where to start... | feel like I'm lost.

: I know the feeling. You always get more than what

you ask for on the Internet, right? Well, how about
making an outline first?

: Um, how do | make an outline? Can you give me

more details?

. Of course. First, write down everything you want

to include in your project. And then find the main
point that you want to focus on. Once you find it,
you’ll know what you need to support the main
idea.

: | can do that. It will make it easier to search

for information, too. Thank you for your help,
Professor.
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Causes of Waves
e Wind

: Blows on the surface of the ocean and waves form
e Events like earthquakes

: Can create a large sea wave called a tsunami

Listen to part of a lecture in an oceanography class.

P:

o ol
.T e

wind-driven wave ZIiH}zhol| o|5H A7 Ttr)
underwater (&) 29|, siix{Q
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So, let’s talk about what causes waves... The
most common cause is wind. When wind blows
on the surface of the ocean, waves form. These
are called wind-driven waves. They’re also called
surface waves because they only happen near the
surface of the water. These kinds of small waves
usually aren’t dangerous.

However, big waves are... Um, they start at sea
and grow stronger as they move toward land.
Many times, they’re caused by powerful storms.
But they can also be caused by other events like
earthquakes... Now, | know what you’re thinking.
Yes, these events don’t happen only on land,
but they also happen underwater... Earthquakes
underwater cause the ground to move. This
movement makes large amounts of water move
as well. The movement can be so strong that it
creates a large sea wave called a tsunami.
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. But they can also be caused by other events like
Now, | know what you’re thinking. Yes, these
events don’t happen only on land, but they also happen

earthquakes...

underwater...
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P: Now, | know what you're thinking.
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Listening Practice 1
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Note-taking
Student’s Problem
The group is not making good progress.

Professor’s Solution

e Choose a leader who can make decisions
e Brainstorm for topics
e Give a specific task to every member

Listen to a conversation between a student and a
professor.

Sk

P:

I

e

B

Hello, Professor Stephens. Do you have time to
see me now?

Hi, Oliver. Yes. How is your group assignment
going?

: That's what | want to talk about. 'Uh, our group is

not making good progress. All the other groups
have chosen topics and started their research,
but...

: 3Are you the team leader?
: Uh, we don’t have one, actually.
: Well, that makes sense... It's difficult to make

progress without a leader. You know, a leader
can make decisions on things like, uh, what to do
next.

: I'see. Uh, maybe | could volunteer for the job.

: | believe you'll make a good leader. 2Um, also, |

recommend that all of you brainstorm for topics.
It's important that everyone is involved at this
stage. That way, you can be sure that everyone
agrees with the final topic.

: That's true... Um, is there anything else we should

do after choosing a topic?

: Well, lastly, | would make sure every member is

given a specific task. They should know exactly
what they have to work on.

: You're right. I'll tell them what you’ve told me. |

hope it makes things go faster.

. It should... If you still have problems, let me know.

| can speak to the group as a whole.
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. Are you the team leader?

. Uh, we don’t have one, actually.

. Well, that makes sense... It’s difficult to make progress
without a leader.
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P: Well, that makes sense...

(A) DLl 2H|2| 1R S of3HACt

(B) 2 ol Mehof Sol5tx| o

(O) D= XRAle| ojZ40] sHo| ofA=r
=1

=
=0

_,__,_

'7\“3_7'- MZISHCL
5 2 9ir}

(D) 2= 20| ff = HteX] 2

HJQP



Listening Practice 2
1(C) 2(B) 3(A), (B) 4 (D)
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Tt
A

Abiotic Factors
e.g. Temperature, light, water, and minerals

Biotic Factors

¢ Producers: Change abiotic factors into other things
e Consumers: Plant eaters, predators, or eat both
e Decomposers: Break down the materials

Listen to part of a lecture in an ecology class.

P: Now let’s talk about ecosystems in more detail.
'l want you to understand the major factors in
ecosystems. Uh, these are called abiotic and
biotic factors.

First, the word abiotic refers to non-living things. So,
uh, these factors include things like temperature,
light, and water. 2Even though these are not alive,
organisms depend on abiotic factors to survive,
grow, and reproduce. “Can anyone think about a
specific example that illustrates this relationship?

S: Uh, how about soil and plants? If the soil does not
have the right nutrients, then plants will not grow
as well.

P: That's exactly what | was looking for... A good
example is the minerals in the soil. Minerals are
abiotic. They are not alive, but they are essential
for healthy plants. Minerals help plants stay green
so that they can create energy and grow.

Now, let’s consider the biotic factors of ecosystems.
These are the living things, such as plants,
animals, and fungi. There are several types of
biotic elements in every ecosystem, and each
of these has a unique and important role in the
environment. Firstly, there are producers. They
change abiotic factors into something else for
organisms. For example, plants use abiotic
factors like sunlight, water, and carbon dioxide
to create oxygen, which is essential for many
organisms. 3Next, there are consumers, uh, like
animals. Some consumers are plant eaters,
while others are predators that get their nutrition
only from hunting prey. And, some consumers
eat both plants and animals. Finally, there are
decomposers. Decomposers break down the
materials created by producers and consumers.
For instance, when a tree dies, it will start to rot.
This is because decomposers, like mushrooms
or earthworms, break down the dead tree into
smaller pieces. Gradually, it will turn into dirt.
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Can anyone think about a specific example that illustrates
this relationship?

. Uh, how about soil and plants? If the soil does not have the

right nutrients, then plants will not grow as well.

. That’s exactly what | was looking for...
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Note-taking
Student’s Request

Needs advice about studying abroad

Professor’s Suggestion

Go somewhere that challenges you to learn new sKills,
like another language

Listen to a conversation between a student and a
professor.

S:

P:
: 'Uh, you know that I'm planning to study abroad,

: | see...

:30h, | get it...

Good morning, Professor Parks. Are you busy? |
want to get your advice about something.

Sure, Riley. How can | help you?

right? Well, what do you think about studying in
Scotland?

: That's an interesting choice. Why there?
- Um, | guess it would be a nice place to visit, and

they speak English too.
I would discourage you from going there...

: Oh? May | ask why? | thought Scotland would be

an interesting place to visit.

. That's true. But like you said, people there speak

English like we do. 2It would be better to go
somewhere that challenges you to learn new
skills, like another language. That's one of the
advantages of going to a new country.

. | don’'t know many languages. | mean, | learned

some German and French in high school.

: Then you should go to Switzerland. They speak

both German and French over there.

| can improve both languages in

Switzerland.

. And, if you go there, you can still visit Scotland. It

2 =0{F = kst 8hs X2 M2 HackersBook.com

only takes a few hours by plane.

S: That'’s true! | think you’'ve changed my mind,
Professor!
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Note-taking
1850 Fugitive Slave Act

. i Xt O o“:')\EI'EgltHQ‘:')\éHOJC_)L_O )\EI-E%EE b=
: Required all escaped slaves to return to their owners P’H:’ EH_'_ h:"f ‘:'742 o lx*l’:j i (L EN iy o “xl
- S = St = AEIS OtE0IR X|5F = x
even in free states | I:H 7| [[H O” X|°|' M A S BEUE X|°|' M RE
) 2 18502 1865E7A| ZXHHH HIEAIANQ. 1 0]
From 1850 to 1865, the Underground Railroad 22 ol ofz{22 T70| X|3lo| Yx[E HEACIT Azt
: A network[group] of people who offered food and shelter SIX|E 22tQ. 5HK|TH T OILIQI0Q. J74S Chas| SaOfk|
to slaves £ OISOl SAI7H SAIKE RIBHH ot 22lo| ARISO0IH
£. 8 25 425 I2MQ. SRS IR0 AIRIE2 FUt
Listen to part of a lecture in a history class. = H Al ZE QAAES SHAL|CH 152 w5t Lol2 &
. . - L ARREEL 10l |3 ol otsZ2 Al2SHO{ O pAis)
P: OK, so we previously discussed the 1850 Fugitive = AIIES Hob| 2fsh, Of, T 62S AER0IR. Ol &2
. . = SHA
Slave Act in the US. 'Now, we are going to talk Ao of 108t HOo| EES JELICH Sulgt Hof Hot )l
about the unexpected outcome of this act. This S oS0 H|5tH O7de Mo EUX|E 2% 5HX[RE T2
is one of the most dramatic parts of American £ 0] 222 Mo|= Yste WHEH ARRKS0| ofst 2ol L
history: the Underground Railroad. 240(9ALICH
= MHe
But before we move on to today’s topic, let me
refresh your memories... So, there were about Fugitive Slave Act £atofg
five million slaves in the US at that time, mostly unexpected (@) olAl%| 23t of7|x| 92 outcome [@) Zat

in the South. The South needed slaves for
farms, especially cotton farms. However, about a
thousand slaves escaped from the South every
year. 2The Fugitive Slave Act required all escaped
slaves to return to their owners if they were
caught. And it was s required even in free states
in the north. You know, slavery was not allowed
in free states, so we can see how strlot the law

act #H(&), g@is  Underground Railroad x|5} H& Z=Z|

cotton (@) =3l & escaped (&) 2556t free state g3

strict &) . 245t challenge (@) x|, of2l2; =X

Pennsylvania (@) ®EAH|0|L|0FZ(0|2 SE2| )  ignore DAl
shelter (@) 2414 route (@) 4=, Z remaining o le
movement (@) 25; %12 justice o 2™

was. So, uh, this was a challenge for slaves who gols F2 290 ghet 217k

escaped to free states like Pennsylvania. (A) 0| ¥ 7to| Z{0|H

Now, uh, some people ignored the law. These (B) =O||S0| E5IEE T2 MRS HERA
people disagreed with slavery, so they developed (€) ANBIS0| HEE oh= 0|92

the Underground Railroad. The Underground (D) LOl|= =517 9J3t MElo| L2y

Railroad was a network that existed from 1850
to 1865. "“When you hear the name, you might
think that it was a railroad located underground.

rIo

D40 HHER, EoH oo cifst MBo= g2 e

But that’s not what it was. It was simply a group of (A) 172 EX Z=o|| Mot @3&|QiCt

people who offered food and shelter to escaping (B) 172 LO|S0||A| SAITH S A S 2T}
slaves... um, along escape routes. Surprised, 971S L=} 2ol o ME Kes|oir]
right? People communicated in person instead of © _;\: ioﬂ ﬂEE }f':“; foi 1= o (54
writing things down. They also used secret codes (D) A2 B =SS0 foh SAIIACE

to, uh, avoid slave catchers. About 100,000 S . L5

people escaped this way. That may seem small X|ot R ZZ|0f ohgt w40l B Rl
compared to the millions of remaining slaves. (A) 17 pa 7}x|7}x1|:|.

SHowever, the movement was still a successful
effort by ordinary people who wanted justice.

P X}, J2ilAf @2l OfEol 0|22 1850L1E EaftoliHol cisH Zolo| YRS ChA| E1 Z20| H5tAIL.
=03l O[], D2|= 0] o] ofAkx| 25+ Zimoj| Ciisl 0[]0k P: When you hear the name, you might think that it was a
- railroad located underground. But that’s not what it was. It
was simply a group of people who offered food and shelter to

FA0|Q. Ol= 0= SAte| 7hY S80I B2 & sittel, XIsHE
[e]
escaping slaves... um, along escape routes. Surprised, right?
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4 @A of oA Laterk:
P: Surprised, right?
(A) F=H7t ol3fi5t7| 01 Hohs A2 LAl 2l
(B) &%l 21ty
(ORISnigiois

f
(D) H|2 ¢Z2 %E%.*a*

1(B) 2(D) 3(B) 4 (A)

Note-taking
Student’s Problem

Wants to return a textbook to get money back
— Won’t have time to get the receipt today

Employee’s Suggestion
Could process the return today
— Bring the receipt tomorrow

Listen to a conversation between a student and an
employee in the university bookstore.

W: Hi. 'l want to return this textbook. But, uh, | wonder
if | will get my money back if | do.

M: Um, it depends. Could you show me your receipt?

W:Um, | left it in my room at the dormitory...

M: | need to know when you bought the book. You
see, we only accept returns when it's within two
weeks. There should be a date on the receipt.

W:But | paid for the book with a credit card. | think

you have a record of the sale.

M: I will still need the receipt, though. It's a store
policy... 2And we’re closing in 20 minutes.

W: Oh, no, | won't have time to go to my room and get
the receipt today...

M: Is there a reason why you have to get a refund
today?

W:4Uh, | bought the book two weeks ago. It will be
past the deadline if | come back tomorrow...

M: Hmm... Well, this is a new policy, and the manager
is really strict about it. But it doesn’'t seem fair in
your case...

W:lIs there anything you can do? | really need the
money to buy a textbook for another class. The
class starts next Monday.

M: | guess | could process the return today. But you
need to bring the receipt tomorrow morning. |
could get in trouble if you don't... 3Um, actually,
leave your student ID with me so that | know
you're coming back.

W: Thanks so much! | can do that. Let me get it out of
my purse for you.
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Chate| YRE ChA 21 H20] B2, is broken. He is lucky and does not have any

W: Uh, | bought the book two weeks ago. It will be past the injuries. So, his accident is in the first category.
deadline if | come back tomorrow... However, he does not fix the broken ladder and

M: Hmm... Well, this is a new policy, and the manager is really falls again. Th_is time| he hurts his finger. NQW
strict about it. But it doesn’t seem fair in your case... he has an accident in the second category. Still,
he does not fix the ladder, so he falls again and

4 MBS Ol TRORM SRS YAIBH=TE breaks his arm. He has a serious accident in the
M: But it doesn’t seem fair in your case... third category. What does this tell us? “Well, |

think it means the worker could have avoided the
serious accident if he fixed the ladder.

—

A ePde Es s BRIt gict
(B) 22Xt =2E HISE - glS AoICt .
W17 K 25(0{0} BHC, SHeinrich conclud_ed that emplqyees are usually
the cause of accidents. He said that almost 90
percent of work accidents happen because of
employees’ unsafe decisions. However, many
people do not accept this today. They think that
Heinrich blamed employees too much. They say

and working too long can also cause accidents...

1(B) 2 (B) 3(A) 4 (C) 5(C) not just employees’ mistakes.
Note-taking Atg|eh Zolo] YRE SOAIR
Heinrich’s Law P: Of2i22 AN ORLt B2 EteiE Ao che LR I
e First category: Accidents did not lead to an injury oHOLR. IRAFA? RIMIAISO0| QJaist M S2 A 9I0iQ. 5}
e Second category: Accidents caused a minor injury X|ot 01, 0742 Tfetdoz DEksH= 70| ZQEH|C} HHE
e Third category: Acmdents rgsulted in a major injury 31012/32H= 0= 2| Al OFF RMEH= 193040 LoiLt
&9 A compary wih 399 aceidents ADES SAtRR 012 T Clesst SIS AfnSo] chet
: 300 were in the first category, 29 in the second, and 1 B2 0FS 1 TIZ4S 0] OfEA| SHAISHEX|Off CHaH 087 |31
in the third. oT= el LAE =/l 2'3°I= ol Pt
X} J2iM 3RI2[5l= HA 7500042] AUH AlSS E4
Listen to part of a lecture in a sociology class. H0IR. eI LM, = IRES M 7K BF2 LSS A
i HE= 24O R 0|01X|X| 42 AL SO0[A0IR. & il
P: How many workplace accidents do you hear T 27122 CHR|S 24T} 20| 71D BAFS Xaist AL S0
about on the news? Quite a few, right? It might OIZ TIR{HH A BN HZES AESE 4 OlLI? IS W &
sound like workplaces are dangerous. But, uh, o 2h0] 2 At e o0l 040! =t
. q q g - =2l x=3 I = =
it's important to consider this scientifically. 'An SXl= 2 20| 2 F4S Zefiet AIS0[{01R. 0120|512
industrial safety expert named Herbert Heinrich 2[5l 2, = 5tel2|5]2| w20 =21H|, 22301 THal 7|50k
tried to analyze accidents in the 1930s. He made SHZ Q5 H0| F0{ 7FX|7} QI&LICH
categories for different workplace accidents and B N - N - _
dlscussed how they happen 6|’0L|E|6|E A|'—T|—§O| Exdl ngi HEFAoHﬁj_H:l' H|A|?ﬁ018 %, 6}
L Qla|sl= & 330712 AFE0| QIQUIH 5t F|ALC| GIA|S AR
OK... So Heinrich first analyzed 75,000 workplace - 51 [[° . - l_lh'i l*“; iy J{f Lil: = r;’“
g o . = x:
accidents. Then, he divided them into three & 10 M2H, 7 MAIE 3 300240] 5 R B0, 297401
categories. The first category was any accidents S tHmol], 32| 1749] AP} M| THo £3401L. 0= CHEk
that did not lead to an injury. 2The second O] AFIES EAS O [6HR|= QURMR[DE OHE = %|A 5t A
category was accidents that caused a minor S AIZESHCH= S o|nfEh|Ch
— O = A= =]
injury, like hurting a finger. And can you guess _M_A )
the third category? It was accidents that resulted i B 2fZf0f AL HFS0] LTS Ape|0f Tt o
in a major injury, like breaking bones. This is ZM0{Q.. 0f, 5t TIQIEZO| AIC2|7} i/ A Ho{XCHD s
Heinrich’s Law, or Heinrich’s Pyramid, and there 2AICH 07} 20| Z0HA OfiaH 2ALE 91X ok0tQ. 2 1
a{)e a;.?ouple of important points to remember of AT & BHE) BIZ0| SBHLICH sIKaE D= SRl AlIE)
about it.

o ) £ JOX|X| 20FA CHA| HOIZILICE OOz, 7t &7125g T
Heln.rlch suggested_th.at accidents happen at Q. OJH| T S Wm0 25 ALDE st A% 0I5
certain rates. Um, Heinrich used the example of a 1 ACIE|Z TE[X] SIORM, T ChA| EOJET BHo| Haf
company with 330 accidents in total. *According - = S B, = =i =R

. . . a n A= = 5

to him, 300 of those accidents were in the first 2 = M S gx0f £sh= d2fet ALnE Fetitt 0[20]

category, 29 in the second, and 1 in the third. 2|0f|A oIS UHENQ? S KMe 1 AZXPFALR|IE 1

This means that the largest number of accidents LI AlZESEAFDES TS 4 Q9IS S o|n[3HTfm AjZEsH |

did not cause any injury, but at least one of them

was serious. Siel2|sl= EE ZS0| A foIo2tn Z2ES LRINR.
. = o] QOHMIE Q| XY Al IS 0| S 0| ObM5HX| 26t A

He also mentioned that each category of 1= |9?”1“* |_|+H t1S0| H#S +| ‘:“‘* |zt 2

q q 5 =0l o ats = =Lt Oto =0
accidents is closely related... Uh, let’s say that 0] Yo{ATHD LR SHXIEL @5 B2 ARIS2 0
a painter falls off a ladder because the ladder s LOLSO[X| 4ELILE 252 stel2(5]7t X|LEX|A| Eol &
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Heinrich concluded that employees are usually the cause of
accidents. He said that almost 90 percent of work accidents
happen because of employees’ unsafe decisions. However,
many people do not accept this today. They think that
Heinrich blamed employees too much.

uE 0| Fgoz=M RS 2ojsk=rk

P: However, many people do not accept this today.

2 =0{F = kst 8hs X2 M2 HackersBook.com

Vocabulary Review

22p.92

1 support 2 brainstorm 3 discourage
4 blame 5 unexpected 6 gradually
7 fair 8 agree with 9 nutrient

10 (C) 11 (A) 12 (D)

13 (B) 14 (C)
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A.
Note-taking

Student’s Problem

Tried to register for a class, but it was full

Advisor’s Suggestion
Add your name to the waiting list

Listen to a conversation between a student and an
academic advisor.

W:Hi, | was wondering if you could help me. You see,
one of the classes | tried to register for was full
yesterday.

M: It was? What's your number on the waiting list?

W:What? Oh, uh, | didn’t know there was a waiting
list...

M: Yes, when a class is full, students can put their
names on a waiting list. That way, if someone
drops the class, students on the waiting list can
get in. It’s an option you can select when you
register online.

W:Oh, that must be the problem... | actually
registered in person at the registrar’s office with,
um, Mr. Hanlon, | believe?

M: Well, he should have let you know about that...
Anyway, it's not too late. You can still add your
name to the list.

W: OK, thanks. I'll do that right away.
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register () S=siCt  waiting list th7[xt @t drop (B)
select TE2C}; Mufsict
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B.

Note-taking

Ascribed Status

: Decided when you are born
e.g. A prince has a high status.

Achieved Status

: Based on your effort
e.g. Oprah Winfrey has a high status.

ZHE T oS 501, YAt LEoM EHOR| W20l =2 7

£ XIE 7ML,

FHHZ, g3 XIS 26t SAICE 3 X9lE 0222 =
Hof| 7|ets SLitt @Z2f fIZ27t 22 ofAlofe. 4= 0
= EHR0IM 7Htet 301 olgo = EfofRtol. ST e
YE2o= Y3517| fla EY3| S L 2= Qs 2
7| UE EA L TIREKIOX HERZF 2|91 49| 71 XIflE
UKL, 20l Z=2 GF| RIS 7RI FELITE

sociology A3

st status X2l ascribed status 7% x|
achieved status 4%| x|?| gender (@) A% race o=
family background 7t &tz royal family 24!

effort 3 21 succeed (8) ME3ICt EAMIGICH

broadcaster gk801  host (&) TIgx}; =0
producer RI|ZERF, AAERE

D4 ZoI2 ofg| PAH=Tp

(A) AJZH0] XIioil k2 ARE{ K|917} Ofeg| =]
olopr|atoEm

(B) WIS S 274517 Ol

(© Moz Quist Atz

(D) S8 el 5248 Yxsio=M

Listen to part of a lecture in a sociology class.

P:

AtS

p:

In sociology, there are two kinds of status. There
is ascribed status and achieved status.

First, there is ascribed status. This is decided
when you are born. It includes being male or
female, upper-class or lower-class, and so on. It
is determined by factors like gender, race, and
family background. A prince, for instance, has a
high ascribed status because he is born into a
royal family.

Second, let’s consider achieved status. Achieved
status is based on your effort. Oprah Winfrey
is a good example. She was born a poor, black
woman in the American South. But, she worked
hard to succeed as a broadcaster. Eventually, she
became a popular talk show host and producer.
Her ascribed status was low, but she later had
high achieved status.
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Listening Practice 1 22p.97
1(C) 2(D) 3(B)
Note-taking

Student’s Problem
Dr. Cooper can’t give a talk at the dinner party.
— Needs to find a new person

Professor’s Solution

Professor Daniels will be able to do that.
— Has been teaching for a long time

Listen to a conversation between a student and a
professor.

S:

P:
: "Well, Dr. Cooper was supposed to give a talk

Do you have a minute, Professor Taylor? | need
your advice about the department dinner party.

Sure, Ellen, what's the problem?

at the dinner, but now he can’t come. He's, um,
attending a conference that day.

. | see. Have you found someone else yet?
: No, and | only have three days left to find a new

person.

: Hmm... Have you considered not having the talk

at all? That might be the easiest solution.

: Well, | thought of that, but I'm worried that the

students will be disappointed. They're expecting
to hear a talk.

. | understand. What about Professor Daniels? She
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department SHp EA
talk (&) 2¢d, oind
solution (&) A=Y, i

might be available.

: Do you think she can prepare a talk in the next
three days?

: That depends...
anyway?

Um, what’s the talk about,

:2Um, Dr. Cooper was going to talk about his
experience as a teacher.

. Professor Daniels will be able to do that, don’t
you think? She’s been teaching for a long time...
Would you like me to ask her for you?

: Thank you, Professor. But, uh, maybe | should ask
her myself.

: Very good. | believe she’s in her office right now...
3Do you know where her office is?

: Yes, uh, | actually took one of @ classes last

semester. So, | know where it is. Thank you
again, Professor.
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Listening Practice 2
1(C) 2(C) 3(B)
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Earth’s Geological Structure

¢ Crust: Contains rocks and soil

* Mantle: Mostly solid rock, but constantly moving
e QOuter core: A liquid-like material

* Inner core: Heavy and solid

Listen to part of a lecture in a geology class.

P:

We live on Earth’s surface, so we probably do not
think about what is underneath very often. But, uh,
Earth’s structure is important because it makes
life on Earth possible. 'So, let’s learn about Earth’s
geological structure and its three different layers...
the crust, the mantle, and the core.

Let’s start from the outside. The outer layer of
Earth is the crust. The crust is the layer that we
can see. It contains rocks and soil, and this is
where all of the plants grow. 2But surprisingly, it's
actually quite small. Uh, it makes up only around
1.4 percent of Earth.

Next is the mantle. The mantle is mostly solid
rock. It is around 2,900 kilometers thick. 3The
mantle is heavier than the crust. Thus, the crust
floats on the mantle like oil floats on water...
uh, because oil is lighter than water. Um, even
though the mantle is mostly solid, it is constantly
moving. Natural forces, such as gravity, cause
the rock to move. Some sections of the rock go
over or under the others. When they rub together,
this creates heat. So it can be very hot, and the
rock can turn to liquid. When this happens, the
hot liquid rock can move up to the surface... like
in a volcanic eruption.




Lastly, there is the core. The core is in the center
of Earth. The pressure in the core is very high.
So, this makes the core extremely hot. Some
parts of the core are as hot as the Sun! The core
can be divided into two parts... the outer core and
the inner core. The outer core consists of a liquid-
like material. But, the inner core is heavy and
solid. The inner core is mostly composed of heavy
metals, mainly iron. ‘However, everything we
know about the core has been learned indirectly.
We cannot examine the core directly because it's
too deep to reach. And to tell you the truth, | don’t
think we ever will...
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Listening Practice 3 22p.101
1(A) 2(C) 3(B)
Note-taking

Student’s Problem
University writing is different from high school.

Professor’s Suggestion

e Decide on the main topic — Write an outline
* Make a clear plan

e Attend my writing workshop

Listen to a conversation between a student and a
professor.

S: Hi, Professor Brown. | have something | need to
talk to you about.

P: No problem. My door is always open.

S: Thanks, Professor. 'Well, the problem is... | don’t
know how to start writing my paper. University
writing is so different from writing in high school.

P: Yes, that's a common problem for first-year students.
2Um, let me give you some suggestions.

S: I'd really appreciate it, Professor.

P: 2Yes, so, the first thing is to decide on the main

topic of your paper. Then, write an outline. That
way, you can always remember what's important.

S: That's interesting... Um, what else should | do?
P: 20K, next, make sure that you have a clear plan...
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(9]

jo

B

suggestion @) =
confused (&) E2tA2|2 E2tARQlstE
workshop @) ¥13&

: What do you mean by a clear plan?
: 2Well, 'm saying that you should plan your time

well. If you don’t schedule time to work on your
paper, you may not finish in time.

: I see. OK...
: 2And lastly, if you ever feel confused again, come

see me right away or speak to the other students
in class. | also suggest showing your first draft to
a couple of other people. You can ask for their

opinions. This can help you see things differently.

. | like that, Professor. Thank you.
: 8Why don’t you attend my writing workshop? |

have plenty more advice. So, it could be very
helpful.

: Definitely. Can | sign up right away?
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Note-taking

Different Western Calendars

® Roman calendar: Based on the moon’s cycle
e Julian calendar: An extra day added to February every

third year

e Gregorian calendar: An extra day once every four years

Listen to part of a lecture in a history class.

P:

As you probably know, the Gregorian calendar is
the most commonly used calendar today. Um, it
was first introduced in 1582. 'But before this, the
Western world used different calendars for more
than 1,600 years. | want to take some time this
morning to look at how they developed.

The first one was the Roman calendar. It had 355
days in a year. This was because it was based
on the moon’s cycle, which is how long it takes
for the moon to go around Earth. However, the
calendar’s length was shorter than a solar year...
That’s, uh, the period of time for Earth to make
a complete circle around the Sun. 2This created
problems because the calendar did not match the
seasons of the year. People got very confused
as a result. For instance, farmers sometimes
celebrated harvest festivals in the middle of winter
instead of in the fall.

So, in 46 BC, the Roman dictator Julius Caesar
introduced a new system known as the Julian
calendar. ®The purpose of the Julian calendar
was to make sure that the calendar year matched
the solar year. So, he created a calendar with 365
days, uh, by including an extra day, February 29.
This extra day was added to February every third




year. Um, this was because the Romans believed (D) EHR={F S 2| X0|H

that the solar year |lasted for 365.25 days.

Unfortunately, they made a small mistake... It is 2 IHE 82|RAAE OEH AVEH=TR?
actually 365.242 days. As a result, this calendar
did not match the seasons, either.

This issue was finally solved by the Gregorian
calendar. It includes an extra day once every four
years instead of every three years. “This calendar
was named for Pope Gregory Xlll, who ordered
a new calendar system in 1582. And it's a good 3 22RAFOMEE= A MER FBIE ZURE=IR
thi_ng he did... Otherwise, we’d probably still be (A) 200IS ANO[OIA T B2 o17]= 27| 2l
using a less accurate calendar today. (B) Eflerant cizto) 2lie o

= =

i (O ZoflSoA o 71 §US MB3H| 23
ST R Sl (D) 5250l A2 THEHE AI2HS B 20| 7] 91
P: 0f2{£0] otat 21 QIS0|, T2 n2H2 25 TIE S5 AL

2E|= geolLict 2 1712 1582u0) XS £IE|%0(2. 5t 4 g O[22 13M[0f| Cist ol o742 Foielvp

X|2H0|Z4 OfF0], M M7= 1,600 H7 CHE HES AR (A) D= A|ARIS HHERX| 2Rt0{0F $iCH

S X IZE0| oG LU=l Chs 25 oFzlof Azt (B) 2= 22|22 0[3l5Hx| RCt.

£ 20 AR HCt (O 2= 323t /iME JiCt

5 s 20QILICE 222 1190] 355200] UL, 0f (D) 2= B B2 £38 LRUCOFACH

£ 70| 20| X| 7 FIE =& | Zals 712l 2ol F7(of

7|37 | 20| F. SEX|2H 2| ol EfQE BTt BoH=C

Q. IR of K77t EHY 9|12 23| & wintx|e] 7[7t0]

SRR CTestt

HE Lozioje. 1 Zu AFHER iR EAARYHE oS 1(A) 2(C) 3(B) 4 (C)

=0, RS2 M2 712 thil sA420| F4 ZANE 718

5h7|% oI Note-taking

TehM, 7| 460, 20| SXXE 82|RA FH0[AET} Student’s Question

22224202 AT MER HHE TR0 82|24 Wants to know if I've met all of the graduation

o] &2 g=jo| dHo| EfEN UX|SHES s 240|401 requirements

o Employee’s Answer
You haven’t completed a required class for your major.

2| 10{ O He =" OFL= ol . . .

Off F7HEIRUR. S, 0f28= 20IIS0] EAH0| 365.258 — Take the class this semester, and sign up right away
SO X|KEICHD UAY| MF0|Z. QERIAIL, IS5 22 A
Z ELCE. 27 AR Z2E 36524220/ HEQ ZujEoR,

Listen to a conversation between a student and a

0| eEd s ARSI UX[EIK| = otoro]Q . , .
| SR =S SRIGHI= HRlol2 registrar’s office employee.

O SRI= el u(=ofl %5 OFEih SHFEIEole. AXE 36 M: Excuse me, is this the registrar’s office? | was
DT} Obel 40iC} B 14 FIPHQl SRS ZHAIZI0R. 0] ' hoping you éould help me. '

22 wek J2i12|Q 13419] 0|ES WA 0| X|oiR=H|,

= 158210} MES T M2 HEsE 12D 17 1 W:Yes, of course. What's your question?

7 5t 742 CIHARIS 20[0|Q. IZIX| UOICIH, S| O M: 'It's about the graduation requirements. Um, 'm
IO OfRI3| O Bats TS AlRST 9/91S ZLICH not sure if I've met all of them. | want to be sure

because this is supposed to be my last year here.

W: All right. 2If you give me your student ID, | can

Gregorian calendar Z12|12|28  commonly S5l 23]
check on my computer.

introduce EQIEICE ATlEICE - Western Mol Mte|

Roman calendar 20t2{ cycle @) Z7|; &8t M: Oh, | don’t have my ID right now. It’s back at
be based on ~0f 7|&5iCt  solar year EfQiA my dorm room. But, um, | know my student ID
period of time 7|7t match (&) Yxlsict  celebrate (§) 7|&stCt number. It’s, uh, 1860-4112.

harvest festival 4 2fAfx|  dictator (&) SxHxt W:2That's fine. OK, so... | see here that you've paid
Julian calendar g21243  pope &) & all your class fees. There’s no problem there.

M: Yes, | made all the payments at the beginning of

1 Zole| 78 FH= 2017
e the semester.

O’—l T T

=
>
0Q
o
s
fun
10
ne
[l

W:That’s good. Hmm... ‘However, it seems you
cic haven’t completed a required class for your
(O 20| et AI8EI 0|/ S major.
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M: Oh, | thought so. | don’t remember which class it

is, though. Is it a history class?

W: Actually, it's a class on government.

M: Oh, right. ®l think | planned to take it last year, but |

was busy. I'm on the university’s football team.

W:I understand. You must have been busy with

M

practices and games... Anyway, you can still take
the class this semester if you like. | guess it will be
your last chance.

: Right. I hope the class isn't full yet.

W:Let me see... Yes, there are a few spots left, but

you should sign up right away. The class could fill
up quickly.

M: OK. I'll sign up right now, then.
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W: However, it seems you haven’'t completed a required class
for your major.
M: Oh, I thought so. | don’t remember which class it is, though.
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though.
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Note-taking
Cause of City Planning in the US

Large increase in the populations of many cities
— Needed to improve living conditions

What Government Did

¢ Improved public health and safety
e.g. Built pipes for clean water, put up lights for safer
streets
e Built housing that was not expensive
e Built outdoor areas for leisure and recreation
e.g. Playgrounds, sports centers, parks

Listen to part of a lecture in a city planning class.

P: OK... In the past, most cities in the United States
were created naturally by settlers. This means
that people built structures wherever it was
convenient for them. As you can imagine, this was
very unorganized and random. 'But in the 19th
century, as the Industrial Revolution began, the
US government started planning cities. Let's look
at how this happened.

2Well, one of the key factors that led to this



was the large increase in the populations of
many cities. This happened because millions
of immigrants and people from the countryside
moved fo cities. Uh, they wanted to live close to
the factories that were looking for people to work.
However, there were not enough houses and
facilities for all of the new people. Cities became
dirty, crowded, and dangerous.

3So, what did the government do to improve
living conditions? Well, it first tried to improve
public health and safety. For instance, many
people got sick from drinking dirty water, so the
government built pipes for clean water. Also,
um, streets were unsafe at night because it was
dark. So, the government put up lights to make
the streets safer... *\What else? Well, many of the
people moving to the city were not rich. So the
government had to build housing that was not
expensive. All of these things required planning.
Government officials had to decide where to build
everything in an organized way.

3Now, was this all? No, the government also built
outdoor areas for leisure and recreation. “People
needed somewhere to enjoy breaks from work, to
get together, and to exercise. So, the government
used public spending not only for necessities but
also for leisure and recreation... Therefore, it built
playgrounds for children and, uh, sports centers
for adults. It also used a lot of land for parks. The
most famous example of this is Central Park in
New York City, which first opened in 1858. °It cost
millions of dollars just to get the land. However,
Central Park was hugely successful. It has
become a place for people to escape the busy
city environment. It's also now a major tourist
attraction.
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Vocabulary Review 22p.112
1 status 2 float 3 crowded

4 leisure 5 attraction 6 celebrate

7 successful 8 payment 9 intime

10 (B) 11(C) 12 (B)

13 (A) 14 (D)

CHAPTER 06

Connecting Contents

Example

i
Ao

A. Yes: (A), (C) No: (B), (D)
B. Yes: (B), (D) No: (A), (C)

2p.115

A.

Note-taking
Student’s Question

Finished my summary — What’s next?

Things to Discuss in Essay

e What the book can teach us in the historical context
e How the book was written

Listen to a conversation between a student and a
professor.

P:

S

St
=l

p:

: Yes, well...

: All right...
: You should also discuss how the book was

Hi, Beth. Did you have a question about writing
your essay?

Well, Professor Adams, | finished my summary of
the book, The Blind City. But, I'm not sure what to
do next.

AA summary is necessary, but the
essay should also talk about what the book can
teach us.

: Um, like the book’s main message?
: Yes, but also about the historical context. The

book was written in 1929. So, what was happening
during that time in America’s history?

: OK. ©I should do more research about that, then.
: Exactly. Your essay should explain why the book

was important for, uh, readers back then...
Is there anything else | should include?

written. Um, like what the writer did to make his
book effective.

At I AJOQ| THEHE 24|
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Note-taking

Effects of Globalization

¢ Positive: Can easily travel anywhere, make products

cheaply and deliver them quickly

¢ Negative: Bad for the environment and helps spread

Li

P:

ideas like terrorism

sten to part of a lecture in a sociology class.

Nowadays, people around the world are connected
to each other in many ways... This happened
because of a process known as globalization.

There are both positive and negative effects
of this. For instance, people can easily travel
anywhere in the world. BAlso, companies can
make products cheaply and deliver them to
customers more quickly than before. And
advanced technologies help people communicate
and enjoy culture... All of these, um, are positive.
But, globalization can have negative effects, too.
Um, for example, many people travel on airplanes
and companies move products on ships. °This
is bad for the environment because of pollution.
PAnd, um, globalization doesn’t just help people
spread good ideas. It helps them spread bad
ones too, like terrorism.
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Note-taking

Student’s Problem
Can’t find a book for a sociology class

Employee’s Answer

Sells books about biology, chemistry, and physics
— Go to the bookstore in the sociology department
building

Listen to a conversation between a student and an
employee in the university bookstore.

M: Excuse me. 'l can’t find a book | need for my
class.

my computer.
M: Um... It's called Analysis of Structure.
W:OK... Let me check... Hmm, that’s strange. It

seems we don’t have the book. Um, to make sure,
could you give me the author’s name?

M: Um, yes... | believe it’s, uh, Kay Fielding.

W:2Are you sure about that name? I'm still not getting
any results.

M: That's what it says on this lesson plan | got from
class.

W:Oh, could | see that?

M: Of course... | really hope you can find the book.
3¢My class starts on Monday. But, I'm worried |
won't be ready.

W:Aha! | see what the problem is. Is this for a
sociology class?

M: Yes, that’s right. %l have to take a class in
sociology, so | signed up for Introduction to
Sociology this semester.

W: Well, this bookstore only sells books about biology,
chemistry, and physics. You need to go to the
bookstore in the sociology department building.

M: Oh, I'm sorry. | didn’'t know that there were
different bookstores... I'm new here.

W:It's not a problem. Let me give you directions to
the right building.
M: Thanks so much.
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Note-taking
Four Stages of Housefly Development

1. A

mother fly lays up to 500 eggs.

2. Develops into a maggot, which is like a worm
3. Grows into a pupa, covered in a hard outer skin

4. A

fly breaks out of its shell.

Listen to part of a lecture in a biology class.

P:

I'm guessing many of you have seen houseflies at
least once before. About 90 percent of flies that fly
around our houses are houseflies. 'Houseflies go
through four different stages of life.

The lifecycle begins with the egg. “°The mother
lays up to 500 eggs, and this process takes three
to four days to complete.

These eggs then develop into the next stage... a
maggot. 2Um, like a worm, a maggot has no legs.
It looks like a grain of rice. “*At first, the color of
the maggots is white, but it changes into, um, a
darker color as they grow. Here is a picture that
shows this... Can you see the black dots forming
on its skin? *Maggots have a number of tiny holes
covering the body. These connect to tubes that
lead to the lungs and provide oxygen.
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Now, let’s move on to the third stage. Each
maggot will eventually grow into a pupa. “BA pupa
is similar to a maggot, but it is covered in a hard
outer skin. The color of the outer skin is slightly
yellow at first, but it continues to get darker. And
when the pupa is fully grown, it, uh, becomes a
black color.

“DAfter this, the fly inside the shell will break out
using part of its head. This shows that they’ve
reached the last stage and are adults. These flies
are the fully grown version that we have all seen.
You know, they have black skin and red eyes...
And they have six legs and one pair of wings.
Their wings make them different from other
insects... This is because most insects have two
pairs of wings.

Anyway, this whole process takes about seven to
ten days... And within 24 hours, adult flies start
the cycle again. Female flies will lay eggs after
three days.
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Note-taking

Student’s Request
Wants to join the international food festival

Instructions

1. Fill out a registration form
2. Prepare samples for the cafeteria staff to try
3. Give a list of the ingredients

Listen to a conversation between a student and a
director of the student cafeteria.

M: Excuse me. 'l heard there will be an international
food festival soon. Is that true?

W: Yes. It will happen here in the cafeteria. There will
be booths serving traditional food from different
countries. However, the event has been moved to
next month.

M: Really? | thought the festival was this month!

W: Well, um, the students have asked for more time
to prepare. Are you interested in Jomlng’7

M: Yes. | want to serve traditional food from Brazil.

W:Wonderful. 3*Here’s a registration form that you'll
need to fill out... Um, what will you be making?

M: | want to make Brazilian-style cheese bread and
chocolate balls.

W:Those sound delicious! 2Will you be making them
yourself?

M: Yes. My mother taught me how to make them.

W: That's excellent. 38Um, you'll also have to prepare

samples for the cafeteria staff to try. Can you bring
some on Friday?

M: Sure! How much should | make?

W:Um, five small samples of each dish will be fine.
Of course, you'll have to make a larger amount for
the food festival.

M: | understand.

W:1 look forward to trying the samples... Oh, and
one more thing. *°Please give us a list of the
ingredients as well. We're going to order what the
participants need before the festival. That way, uh,

students have one less thing to prepare.
M: P'll do that! Thanks!
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1(C) 2(B) 3(B)
4 Logging: (B), (D) Mining: (A) Introducing animals: (C)

Note-taking

European Settlers’ Activities and Effects in Australia

® Logging — Habitat loss, soil loss, and dry weather

® Mining — Pollution of streams and rivers, and toxic
chemicals

* Animals from overseas — Lowered biodiversity

Listen to part of a lecture in an ecology class.

P: 'Europeans began to setile in Australia in 1788.
And, um, since that time, they have changed the
environment in various ways. Uh, now let’s talk
about how their activities affected it.

Well... first, European settlers did a lot of logging,
uh, which means that they cut down large
sections of forest. They did this for wood to build
houses and towns. 2But they mainly did it to
remove trees for agriculture. It was usually done
in areas near the coast because the soil there
was good for farming. “Cutting down forests,
however, caused habitat loss, and forest animals
had to move to new areas. Trees also protect
soil. °So, uh, removing the trees caused the
soil to disappear. Removing trees also caused
long periods of dry weather, and the deserts in
Australia got larger and larger...

Another major activity of the settlers was mining.

0 A2 =0i=L CsH &4 At&2 M2 HackersBook.com

Many miners moved to Australia to search for
gold because they believed they would become
rich. *But mining caused the pollution of streams
and rivers. This killed many fish. It also released
toxic chemicals into the soil, so plants could no
longer grow.

Now, the outcome of this next part will surprise
you. 3Settlers introduced animals, such as rabbits
and dogs, from overseas. You might think that
increasing the number of new species living in
Australia would be good, right? For instance, um,
if there are lots of different animals and plants,
you have high biodiversity. ¥4CBut, actually, by
introducing foreign animals, settlers lowered
biodiversity. Rabbits ate native plants and seeds,
and dogs killed birds and destroyed their eggs.
In the end, these animals led to the extinction of
more than 100 native Australian species.
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Note-taking
Student’s Question
Wants to know about the role of election volunteers

What Volunteers Do

¢ Help with preparations like setting up tables
e Check student IDs
* Help students use voting machines

Listen to a conversation between a student and a
professor.

S: Hi, Professor Melrose! Could | talk to you about
the student election?

P: Sure, Olivia. What would you like to know?

S: Um, so, | know it's happening soon, but, uh, I'm
interested in becoming a volunteer. 'Could you tell
me about the role of election volunteers?

P: All right. | can explain it to you. It's really quite

simple.

S: Do we have to help with preparations like, uh,
setting up tables?

P: That's a part of it, yes. “®But, um, more importantly,
you’ll be checking student IDs. We have to be
sure that everyone who participates is a student
at this school.

S: That's because only students are allowed to vote,
right?

P: Yes, exactly. Um, and next, well, have you ever
used a voting machine before?

S: No, | haven't, but | think | can learn.

P: That's fine. 2The school is going to have an
orientation for all the volunteers. “°Um, someone
will teach you everything about the voting
machines. That way, you can help students use
them on election day.

S: Great! | think | can do all of that... Um, so how do |
sign up?
P: | have a form right here. You can complete it

whenever you like. Just return it to me before the
end of the week.

S: Thanks, Professor! 30h, could | get a second
form? My friend would also like to volunteer.

P: Certainly. We're still looking for six to eight more
volunteers.

S: Understood, Professor Melrose. | know some
other students who might be interested. I'll tell
them to sign up as well.
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Note-taking
Realism

* Re

presented the real world

2 =0{F = kst 8hs X2 M2 HackersBook.com

* Focused on ordinary subjects in the present time
e.g. Jean-Francois Millet

Impressionism
¢ Created a general impression of what an artist saw

® Happy and pleasant scenes
e.g. Claude Monet

Listen to part of a lecture in an art class.

P: 'Today, we’re going to talk about a couple of major

movements in art history. "?These are Realism
and Impressionism. And my examples will be from
French art in particular.

As the name suggests, Realists tried to create
art that represented the real world. What | mean
is, um, how most people saw the world. Before,
art focused only on the wealthy class or great
events of the past. “8But, um, Realists focused
on ordinary subjects in the present time. These
included common people, like workers in a
factory... 4°The focus was on ordinary life, which
the Realists tried to present in accurate detail.
They were almost like photographers because of
how they represented life...

In contrast, Impressionists created art based on,
well, their impressions. *Almpressionists did not
try to capture every detail. Instead, the artists
would create a general impression of what they
saw. “CUsually, the subjects were shown in happy
and pleasant scenes like a picnic or a party...
Either way, Impressionists wanted to give an
impression of a brief moment, like, um, the way
sunlight looks in a field of flowers at sunset...

280, now for an example of each... 3Jean-Francois
Millet was a Realist painter. His works mostly
showed the life of farmers. He had a clear
intention to represent farmers at work realistically.
The clothes, the fields, and even the sky looked
real. It was as if you were inside the painting with
the subjects when you looked at it... uh, like you
were a part of the painting...

Now, I'm sure you are all familiar with the next
one... Claude Monet. Monet is famous for his
paintings of the countryside of France. In fact, the
Impressionist movement was named after one of
his early paintings, uh, called Impression, Sunrise.
This work shows a red sun far away and, uh, its
reflection in the water. There are some boats in
the picture, but there is almost no detail. °The
lines are quickly drawn and the colors are not
carefully mixed together... The scene is mostly a
gray fog. Overall, it seems as if the painting was
done in a hurry.
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Vocabulary Review H22p.132
1 extinction 2 toxic 3 summary

4 settle 5 participant 6 spread

7 lead to 8 preparation 9 cheaply

10 (A) 11(C) 12 (D)

13 (B) 14 (C)

CHAPTER 07

Inference

Example 22p.135
A.(C) B. (D)

A.
Note-taking
Student’s Situation

Applied for the student exchange program

Missing Requirements
e | etter of recommendation from a professor
* One-page essay

Listen to a conversation between a student and a
university employee at the registrar’s office.

W:Hi, my name is Elizabeth Moore. I'm here about
the student exchange program in Germany. |

applied last week.

CHAPTER 07 | Inference
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M: Ah, yes, Ms. Moore. We received your application
form and your school transcript. However, you're
missing some other requirements.

W: Oh, really? Could you tell me what they are?

M: Well, we need a letter of recommendation from a
professor. It should include something about your
German language skills.

W:OK. | thought Professor Muller was going to
submit that for me. I'll ask him about that right
after | leave here.

M: And another thing is the one-page essay. Um, it
should be about why you want to join the student
exchange program.

W: All right. I'll work on that later tonight.
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B.

Note-taking
Functions of Longhouses
* For sleeping and storing food
¢ Held large community gatherings
e.g. Political meetings, traditional ceremonies

Listen to part of a lecture in an anthropology class.

P: The longhouse was a long, narrow house built by
the Iroquois people. The Iroquois people were a
group of Native Americans. They became known

0 A2 =0i=L CsH &4 At&2 M2 HackersBook.com

as the People of the Longhouse because, well,
they built many longhouses and lived in them.

Longhouses were very large structures. Some were
even longer than a football field! Many families
lived together in one longhouse. Sometimes,
there were 20 or more families in a single house.
Longhouses were also used to store food, like
dried meat and corn. But, uh, they weren’t just
for sleeping and storing food. They had another
important function... Large community gatherings
like political meetings and traditional ceremonies
were held in longhouses. Today, some Iroquois
people still use longhouses for those reasons.
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Listening Practice 1 £2p.137

1(C) 2 Suggested: (C), (D) Not Suggested: (A), (B)
3(C)
Note-taking

Professor’s Suggestion
Submit your essay for the history department’s monthly

publication
— Remove the section on Turkey’s modern history

— Discuss Turkey’s ancient history some more



Listen to a conversation between a student and a

professor.

P: Thank you for coming, Allan. | want to talk to you
about your history essay on Turkey.

S: Sure, Professor Perlman. Uh, is there something
wrong with it?

P: Actually, it's excellent. 'l think you should submit it
for the history department’s monthly publication.

S: Oh? Is it really that good?

P: Absolutely. It has some great points that were well
supported by your research.

S: Thank you, Professor. Is there anything | should
do before submitting the essay?

P: 2AWell, the length is fine, but there is a part that
needs to be changed.

S: OK. Which part?

P: Well, I'd like you to remove the section on its
modern history... Another student will write an
article about that.

S: All right. But I'm worried that my essay might not
have enough content then.

P: 2CYes, so you will need to discuss Turkey’s
ancient history some more.

S: Hmm... OK. What exactly should | write about?

P: 2°| think you should focus on, uh, how Turkey’s
location affected its history. As you know, it's located
between Asia and Europe.

S: Thanks, Professor. I'll start as soon as possible. I
just need to return some books to the library first.

P: Good. 2°?While you're there, maybe you can find
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some books on Turkey’s ancient history.
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Listening Practice 2
1(C) 2(B), (C) 3(A) 4(C)

2p.139

THt
H

Note-taking

How Social Spiders Hunt

Hunt as a group and build two kinds of webs
* Main web: Spread out like a net

* Another web: Acts as a trap

— Can quickly find the trapped prey

— Can Kill larger prey

Listen to part of a lecture in a biology class.
P: 'Next, I'm going to introduce you to some very

interesting spiders. They are called Anelosimus
eximius, a type of social spider. Most spiders
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B

like to stay alone, but these spiders live in large
groups in some rainforests of South America.
Let’'s focus on some features of their social
behavior.

These spiders build huge webs in the rainforest.
Thousands of spiders live together in these webs.
2They do various tasks, like, uh, make webs and
repair damaged parts of the web. They also take
care of baby spiders...

But the most interesting task that they do is
hunt as a group. These spiders build two kinds
of webs. Their main web is spread out like a
net. Below that there is another web, but this
one is shaped like a bowl and acts as a trap.
This is brilliant because, uh, after insects get
caught in the main web, they fall into the trap.
Once the prey is trapped, the spiders then do
something amazing. ®They all move toward the
prey together. First, they move a short distance,
and then they stop... They do this repeatedly.
The spiders look like dancers giving an organized
performance on a stage...

With every motion, the spiders can feel the
movements of the trapped prey. In this v way,
every spider knows where to find the trapped
prey quickly. Working as a group also helps them
kill larger prey... Um, you see, social spiders are
very small. That's why they usually attack their
prey in large numbers. 4In some cases, they
can catch prey that is over 700 times their own
weight! So, there is usually more than enough
food for all of them...
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Listening Practice 3 22p.141
1(A) 2(C) 3(D)
Note-taking

Student’s Problem

Couldn’t find a poetry collection for an English literature

class

Librarian’s Response

e Lost our only copy of the book
e Try our interlibrary loan system



Listen to a conversation between a student and a
librarian.

M: Excuse me. I'm writing an essay for my English
literature class. 'So, | need a poetry collection
called The Tennis Court Oath. It's by John
Ashbury. Could you help me find it?

W:Umm... Did you check the library’s website? You
can search by the book’s title or author.

M: Actually, | already did. There is supposed to be
one copy here. But | couldn’t find it on the shelves.

W:Just a moment... Ah, | see. It's marked as missing.
M: What do you mean?

W: Uh, it means we’ve lost our only copy of the book.
But the library has ordered a new one.

M: OK. When do you think it will arrive? My paper is
due next Friday, so | really need the book.

W:Uh, I'm sorry, but it will take at least two weeks to
get here.

M: Oh, no. Is there nothing | can do? It's too late to
change the topic of my essay.

W:2Why don’t you try our interlibrary loan system?
Our library is part of an interlibrary program. 2?|f
you submit a request for a book, a partner library
will send it to us. Uh, if it's not checked out. I'm
sure one of the other libraries will have it.

M: Thank you so much for your help! ®I'll do that now.
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Listening Practice 4 22p.143
1(C) 2(B) 3 (D) 4 (B)
Note-taking

Innovations by Jacques Cousteau

* Agqua-Lung: A breathing device that allowed divers to
move freely and take better pictures

* A new underwater camera: Light, easy to hold, with a

waterproof case

Listen to part of a lecture in a photography class.

P: Since the 19th century, underwater photography
has been an important art form and a scientific
tool. At first, it had many problems. The equipment
was limited and color was difficult to capture
underwater. ®Then, a French photographer named
Jacques Cousteau introduced innovations that
influenced and improved underwater photography.
Let's discuss those today.

SThe first innovation was the Aqua-Lung. It was
a breathing device that Cousteau developed in
1946 with Emile Gagnan, a French engineer. The
Aqua-Lung allowed divers to move more freely
because they did not have to use difficult and
heavy equipment. 2t also helped them take better
pictures. When they breathed out air, r, the, uh,
air bubbles went behind their head. The bubbles
didn’t block their view, which allowed them to take
clearer pictures.

SAnother innovation was in cameras. Before,
most cameras didn’'t work very well underwater.
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They were, uh, slow and easily damaged by (A) D2 LA 0& 4 QUQICt
water. “They also produced low-quality images. (B) IZ2 ARIEI IS0l Of Madst A|0F2 =9iC)
Well, in 1957, Cousteau and a Belgian inventor (€ J7i2 P W22 Sy Zo| YZHS =oir}
nam n de Wouter: vel new kind of _

amed Jean de Wouters developed a ne do (D) 1742 2 HiojME 983

underwater camera. It was better in every way. It
was light and easy to hold... But what made this

" n . MBS o] I=NeXl:cly/ MEH=71?
camera so special was its waterproof case. This 3 as PelE Ol T etk

made the camera completely waterproof, which (A) MZ C}2 = EfAIZ H|mEto 2m)
helped underwater photography significantly! (B) A2 0| SIS HojEOZM
SWith these innovations, Cousteau explored (0 Qmst AIRIETIS2| 0|22 olgstozm
the deep oceans and shared what he saw with (D) Y == o| ofsto|| T 0oL [Bo2M
viewers. This helped people have a better
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2 AEIE M2 4 ULE SHFYE IS0/ £ 4P, 1,0 Student’s Problem

7|Z7F 2| §2 21012, 7|ZE0| JE2| A|OF2 SHX| UQt= Missed the midterm exam because of an accident

Ol 0|240] o MESH AIZIS HE = A sIFAE — Wants to take a makeup test

£ CH2 S4le FtuRtoll 2IR101R. ofFolls, che 2ol Fiuatrt Professor's Answer

220/ & ZHSEIK| ARM01Q. IHES 0f 27t 2|1 2 Tests can be missed for students’ own medical reasons.
of| oJsH &7 2AE|7|E $i%. OS2 w5t ZRQ| 0[0|X|2 — Will review your academic scores

DHSO{HH0IR. 8, 1957\ 0], FAES & = HIRE AR W]

of 4= MER E79 £5 7HH2IE 7iEF=0R 242 Listen to a conversation between a student and a
D= HoIM O ZEUELICE IX2 71ED TH77F +l%iE. S professor.

oh 0| FIH2tE FY EYstr| Bt A2 Y= Ao|ASLIC

S: Hi, Professor Brown. 'I’'m sorry about missing
yesterday’s midterm exam. Um, do you think |

could take a makeup test?

Ol2{3t WHES R IAEL ZIS HICIZ EFSsHT 7 E HE P: Hello, Carol. We can talk about that. But why
UST BRHOIR. 0|22 AIRIS0| 5 M T  0f3i3t LSRN D IR e

Lo E20| Ei&L|Ct S: There was an accident. My grandmother fell down

the stairs, and, uh, | had to take her to the hospital.

underwater photography & AREl() P: Oh, I'm sorry to hear that. | hope it’s nothing

capture (g) H=ts| HOHCE Z&lsiCt
photographer AREIEZE - innovation YIHE A
breathing $& engineer 7&Kt 7|AF - diver PSESS

serious.

]

S: Well, she broke her wrist, but she’s doing fine.
The doctors fixed her up, and she returned home

airbubble 7|  view (@) Ao}, 745l Belgian &) #7(of2| today.
waterproof gi2o|  viewer 2t A|™XE
N P: OK, good... Now, about the test...
1 ZolE T2 2oiof| 2k Zdelvp S: Yes, | was wondering if you would let me take a

makeup test. I’'m prepared to take it at any time.

P: 2Well, students can usually only miss tests for
their own medical reasons. That's the university’s
policy. Um, makeup tests for other reasons are
sometimes allowed, but only in special cases.

(B) 2H01M AfElE 27| 21

(A) N2 HHE afstxol &A
zl af
(©) 3t ARfO] =5 AtElE0l O

2 WA0| EH, ofF0l2e| 5t 7HK| AHES Bojo|gi=Tf? S: | understand, Professor. 3A/4Um, what if | called
' my grandmother’s doctor and asked for a doctor’s

Al S =0iF = CIFSH 84 Xt& M2 HackersBook.com



note? It will show that | was at the hospital
yesterday.

P: *AThat could help, but | don’t think it will be
enough.

S: 3PBut if you check my overall score, it’s quite
good... And I've never missed a test or
assignment before.

P: 3Yes, that might help. I'll have to review your
academic scores again, though. Um, if your
scores are good and you've worked hard in class,
I may allow you to take a makeup test.

S: Thank you, Professor. “I'll let you know about the
doctor’s note in a few minutes.
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Note-taking
1939 ~ 1940

Nazi-Soviet Pact: A secret agreement for control of
Eastern Europe countries
— Soviet Union took control of the Baltic countries.

1986

People escaped from the Baltic countries to the West.
— Held protests every year on August 23

1989

Baltic Chain: The Baltic people formed a human chain.
— The Baltic countries declared independence.

Listen to part of a lecture in a history class.

P: What happened in Eastern Europe during the
Cold War? Um, in 1989, two years before the Cold
War ended, three countries wanted independence
from the Soviet Union. These were Estonia,
Latvia, and Lithuania. Now, these countries are
called the Baltic countries because they are near
the coast of the Baltic Sea. 'The Baltic countries
organized a protest that became known as the
Baltic Chain.

2Before we talk about this in detail, let's review
some key events that led to this protest... The

first one happened on August 23, 1939. This was
when Nazi Germany and the Soviet Union made

CHAPTER 07 | Inference
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an agreement called the Nazi-Soviet Pact. This
agreement promised that they would not attack
one another. ®lt also included a secret agreement
for control of countries in Eastern Europe. So, in
1940, the Soviet Union took control of the Baltic
countries.

2By 1986, many people who were unhappy with
the situation escaped from the Baltic countries to
the West. There, they held protests every year
on August 23, which was the same day that the
Nazi-Soviet Pact was signed. They wanted to tell
the world about the harm caused by the Soviet
Union... Meanwhile, people who remained in the
Baltic countries learned about these protests in
the West and decided to hold their own. They
planned their protest for August 23, 1989. This
was the 50th anniversary of the Nazi-Soviet Pact.
This protest became the Baltic Chain.

“The Baltic Chain was actually a human chain.
Many people formed a long line while holding
each other’s hands... And there was a reason
why the protest was done in this way. The Baltic
people believed that a violent protest would
cause more violence from the Soviet Union.
5So, instead of choosing violence, two million
people held hands in a long line. This line went
across all three Baltic countries and was over 675
kilometers long. Now, imagine a human chain
that long... It must have been quite a sight! Well,
various news media reported on the event and
helped spread its message. This message was
that the people of the Baltic countries wanted
independence... Only seven months after the
Baltic Chain, Lithuania became the first of these
countries to declare independence. It was
followed by Estonia and Latvia.
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So, instead of choosing violence, two million people held
hands in a long line. This line went across all three Baltic
countries and was over 675 kilometers long. Now, imagine a
human chain that long... It must have been quite a sight!
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P: It must have been quite a sight!
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Vocabulary Review £22p.152
1 ceremony 2 ancient 3 innovation

4 waterproof 5 publication 6 store

7 medical 8 Violent 9 protest

10 (C) 11 (A) 12 (B)

13 (A) 14 (D)

Actual Test 1

1(C) 2(C) 3(A)
4 Yes: (A), (D) No: (B), (C) 5(C)
Note-taking

Student’s Problem

Wants to find a part-time job related to journalism major
— Will help future career

Professor’s Suggestion

® Apply for an internship
e Get a job with Reflections magazine
— Looking for a student assistant

Listen to a conversation between a student and a
professor.

S: Hi, Professor Neville. Could | ask you something?
'Um, | need to find a part-time job that's related to
my journalism major. Do you know of any jobs like
that?

P: Hi, Carla. Well, | know it's too late to work as a
campus reporter. Those jobs are usually taken in
the first semester... Um, what are you doing now?

S: I'm working in the campus café... The job is OK,
but | want to find something that will help my
future career.

P: | understand. “*Have you considered applying for
an internship?

S: | have, but I'm too busy. ?“8'd have to work full-
time as an intern, but | need to take some courses

this summer break to graduate. That's why | only
want a part-time job... “°Um, are you looking for a
research assistant for a project?

: I'm sorry, Carla, but there aren’t any new projects

right now. Hmm... “°However, you might be able
to get a job with Reflections magazine. That's the
magazine for students who have graduated from
our university.

: Yes! I've seen copies of the magazine on campus.

That would be great!

: Um, yes, but before you get too excited, | should

warn you. They’re looking for a student assistant.
So, you will probably do small tasks like make
phone calls and copy documents.

: Oh, right... Well, that’s better than nothing.
: 3Yes, it's still a good job to consider. You'll be

able to see what professional reporters do. And
if you work hard, you may get a chance to write
your own articles eventually. That would help your
future career.

: That's right! Um, can | go to their office now and

ask them about the position?

: Actually, let me call first. The magazine usually

hires more experienced students. I'll talk to the
editor and tell her that you did good work in class.

. | really appreciate that, Professor. I'll wait to hear

from you then.
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part-time job Of2HI0|EZ]  journalism @) Al24tast Mde|s
major (&) M3 reporter (&) 7|Xt 6 (B) 7 (C) 8 (B) 9 (C)
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student assistant sf2 =m  eventually oiFIZE A
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Photosynthesis

E:l
0=
rlo
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El

. A process that plants make their own energy

(A) = T2 E A¥oh= ol O 22 AlZto] ZQsiCt — Needs four things: Chlorophyll, sunlight, water and
(B) L= T A0flA st Ziof chal 44251 QUck carbon dioxide
(C) J= Rfrle| MEZo}p A%l UKIE|E QI5HC How Plants Do Photosynthesis
(D) I £ Zof| £oi alfof &X| ZE2LCt 1. Plants consume water from the soil.
2. Leaves absorb carbon dioxide from the air.
SR off 012 S0f QIEEIS &t 4 glETp

3. Chlorophyll uses sunlight to produce sugars.

(A) TL= 71ET} 8P 0484S 7iCt 4. Plants release oxygen from their leaves.
(B) J= Z2HEZ TIRHE Zio|Ct
(C) I ¥ 2 ES S0{0F 5t Listen to part of a lecture in a biology class.
(D) 2= E 7K 8 S| REi. . . .
=< P: Animals, including humans, produce energy by
. G
DAL by xT OIX2|0f Chat 19| AZHS OfEA) Bts|=T eating food. Then, how about plants? SActually,
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S: Um, can | go to their office now and ask them about the

position?

P: Actually, let me call first. The magazine usually hires more

experienced students. I'll talk to the editor and tell her that
you did good work in class.

=03 = Lt shs X2 M2 HackersBook.com

plants make their own energy. In this lecture,
we’re going to focus on how plants do this. 8They
use a process called photosynthesis...

Plants need four things to do this. The first is
chlorophyll. “Chlorophyll is the chemical that
causes plants to be green in color. It exists in
the plants’ cells. Uh, the other three things are
sunlight, water, and carbon dioxide. The process
of photosynthesis goes like this... °°First, plants
consume water from the soil through their roots.
98Next, the leaves absorb carbon dioxide from
the air. Uh, there are tiny holes on the surface of
the leaves, and the carbon dioxide enters these...
Once the plants absorb the carbon dioxide, they
then use energy from sunlight. This is when the
chlorophyll becomes important. "°AChlorophylI
uses sunlight to produce sugars, which are the
plants’ food. These sugars provide the energy
for plants to grow and heal themselves. Some of
the sugars are used immediately, and some are
stored for later... 1°°And, uh, the final step is... uh,
plants release oxygen from their leaves. It goes
out through little holes, just like the carbon dioxide
comes in...

S: °So, uh, the carbon dioxide and oxygen parts... |

guess that's how plants breathe...

P: Well, yes and no... We don’t call it breathing in
plants. We call it respiration. But, actually, this is a
helpful way to understand it. Unlike people, plants
need to “breathe in” carbon dioxide, and they need



to “breathe out” oxygen. So, plant respiration is
exactly the opposite of how you and | breathe...

Anyway, photosynthesis is influenced by several
factors. I’'ve already mentioned two of these,
sunlight and carbon dioxide. If there is not enough
sunlight, photosynthesis occurs very slowly.
Similarly, there has to be enough carbon dioxide.
""Now, the other factor is temperature. Plants
cannot easily perform photosynthesis in extreme
temperatures. So, it depends on the weather,
climate, and seasons...

8Now, photosynthesis is important for all life. Why
is this? Well, this is because plants store carbon
dioxide. As you might know, too much carbon
dioxide in the air can cause global warming. So,
by removing carbon dioxide from the air, plants
can help prevent climate change. And, uh, by
releasing oxygen, they also improve the air
quality for all of us.
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. So, uh, the carbon dioxide and oxygen parts... | guess that’s
how plants breathe...

Well, yes and no... We don’t call it breathing in plants. We call
it respiration. But, actually, this is a helpful way to understand
it.
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P: Well, yes and no...
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(D) IHNE S AL H7t @ o SRAEICE
PART 2. =2p.158
1(C) 2 (D) 3(B) 4 (D) 5(C)

Student’s Request

Wants to change his major; economics
— Has to be something related to business

Advisor’s Suggestion

Consider choosing marketing as a major
e Fill out some forms
e Read a brochure to learn more about the classes

Listen to a conversation between a student and an
academic advisor.

M: Excuse me. Could you help me out? 'I'm interested
in changing my major, but I'm not sure what to do.
I’'m currently majoring in economics.

W:Yes, | can help you change your major. But, uh,
why do you want to change it now?

M: Oh, well, | took some economics classes in the
first semester and, uh, realized that I'm not really
interested in the subject.

W: | see... Why did you choose it in the first place?

M: 2My goal is to start a small business after college.
Um, and one of my friends told me that learning
economics would help.

W:Yes, it can be useful. But many people who have
that as a major become researchers after college.
Clearly, that is not what you want to do.

M: Um, yeah, it’s really not for me. Besides, | found
the economics lectures too boring and difficult.

W:OK, so that's decided... 3But what do you want to
study instead?

M: Honestly, I'm still not sure. But, uh, it definitely has
to be something related to business.

W: Let’s try this... Among all your past classes, which
one interested you the most?

M: Oh, that's easy! The answer has to be marketing.
| have a lot of ideas about how to promote
companies and products.

W:4Great! Then you should consider choosing
marketing as a major. It sounds more suitable for
you.

M: Can | select that as my major right now?

0 A2 =0i=L CsH &4 At&2 M2 HackersBook.com

W:It's not that simple. You'll need to fill out some

M

forms first... Here, why don’t you take these with
you and bring them back when you’re done?

:OK, | can do that. Is there anything else | should

know about?

W:3Um, take this brochure about the marketing

M:

of

=

program, too. You can read it to learn more about
the classes you're going to take.

All right, thanks. I'll do that now.
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PART2. =2p.160

6(C) 7 (B) 8(C)
9 Supply: (B), (C) Demand: (A), (D) 10 (D) 11 (D)

The Law of Supply and Demand
e Price goes up.
— Demand: Consumers buy a product less.
— Supply: Sellers make more products to sell.
e Factors that affect supply and demand
— Demand: Preferences of consumers and how much
money they have
— Supply: Cost of materials and paying workers

Listen to part of a lecture in an economics class.

P: When we go shopping, we want the best price,
right? Well... what determines prices? ®According
to one economic theory, it is supply and demand.
The law of supply and demand is a way to
describe the relationship between buyers and
sellers... Let’s explore this law in detail...

First, according to the law of demand, buyers
want a product less if the price is high. ’So, if the
prices of goods go up, people buy them less. But
what about the law of supply? What happens to
supply if prices are high?

S: Um, | think supply should go up... uh, because

sellers can make more money if prices are high.

P: Exactly. 8If sellers can make higher profits, then

they will make more products to sell. So according
to the law of supply, if prices are high, sellers
make more products. But, let’s say that prices
are low. What happens then? Well, buyers will
usually want more products, so demand will be
high. At the same time, sellers make less money,
so supply will be low... As you can see, prices
influence both supply and demand in opposite
ways. If the price of a product is too high, demand
will be low, but supply will be high. And if the price
of a product is too low, then supply will be low, but
demand will be high.

There are other factors that affect supply and
demand as well. ®®*CFirst of all, supply is affected
by production costs. These include the cost
of materials and the cost of paying workers. If
the materials you need to make a product are
expensive and your workers’ salaries are high,
then it will cost more to make a product. **On
the other hand, demand is mainly influenced
by consumers. For instance, the preferences of
consumers play a big role since what they want
often changes. °°Also, how much money they
have affects demand. Naturally, people will buy
more if they have more money to spend...

Because of these factors, supply and demand are
usually different. "®"However, imagine that supply
and demand are equal. For instance, sellers
want to sell 100 products, and consumers want
to buy 100 products, too. When this occurs, we
say that the price is ideal. This price is called the
equilibrium price. ""We can find this ideal price
easily with a graph. For example, let’s take a look
at this graph...
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. If sellers can make higher profits, then they will make more
products to sell. So according to the law of supply, if prices
are high, sellers make more products. But let’s say that
prices are low.
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P: But let’s say that prices are low.
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Note-taking

1667

The Paris Salon

* Open to the certain people from the upper class.

e Showed only artwork of graduates from the Royal
Academy

19th Century

Private galleries and salons
e Creative and experimental artists e.g. Monet, Van Gogh
e Development of new art movements like Impressionism

Listen to part of a lecture in an art history class.

P: So... let’s continue our discussion of French
art... As we learned last time, art became very
popular during the Renaissance. This was
because wealthy people began helping artists. At
first, individuals would personally give money to
support the French arts and culture. ?However,
by the 17th century, the royal family also started to
support the arts. This led to an art exhibition called
the Paris Salon. Let'’s talk about its history...

®In French, the word salon originally referred to a
reception room in a large house. In other words,
it was a place to receive guests. But over time,
its meaning changed. A salon became a space to
view and appreciate beauty. And this is what the



Paris Salon was. Now, the Paris Salon opened in
1667. But, uh, it wasn’t open to the general public.
Only certain people from the upper class could
attend. Um, think of it as a private art gallery...
“The Paris Salon took place in a room called the
Salon Carré in the Louvre Palace. It displayed
the artwork of young talented artists. And in the
beginning, these artists had to be someone who
graduated from the Royal Academy of Painting
and Sculpture, which was the best art school at
the time. Other artists were not allowed to submit
their work...

By the late 1700s, this attitude slightly changed.
The Paris Salon was open to the broader
public. Also, artists who were not from the Royal
Academy could participate. But the art style was
still limited. 'The judges selected the artwork
for display, and they usually preferred artwork in
a traditional style. So, all the works in the salon
looked very similar. They were always about
historical subjects in a realistic style. Therefore,
more creative artists were usually rejected, which
is a shame.

Then, in the 19th century, private galleries
and salons began to appear, and their number
increased. And, uh, artists became more creative
and experimental. '®In fact, many of them strongly
opposed the traditional art style of the Paris
Salon. They thought it did not allow them to freely
express themselves. So, many popular artists like
Monet and Van Gogh created private exhibitions
that were different from the Paris Salon. ""They
eventually led to the development of new
movements like Impressionism. And because of
the popularity of new art movements, the Paris
Salon began to decline by the 1880s. We'll talk
more about some of these new art forms in the
next class...
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16 WA= D9} HF TS0|| R 2oiS tA|sh=7}? can send it back to me through e-mail.
W: 1 don’t know if that will help. Um, the professor is

(A) 259 2ZE2 ufe| 430l TAI=IRACE ) . LA .
=2 FExol 040f Hickaich doing research in a location in the countryside.
(B) 1S= HSHE! OIS0l BTt So, he might not have internet access... And also,
(O 252l Djs2 159 gl St 177+ §iACE he might be too busy to check his e-mails.
=0 7t gl stp = =ois
(D) 1SS 2= 0I5 s S SR M: | understand... But, what else can | do?
17 A= 9ff ZHO|ojl A QlAtZ=o|Z oiTst=T]? W:*l would suggest visiting the scholarship office.
Someone there might be able to help you if you
(A) T2| HE0| MER 0|£0] 20| AASE Hoix7| 25l explain your situation.
olzlejo| QAL 7t o3 . .
(B) BRiglel 3292 dxo| T|°_H ] M: | don’t know about that. Do you think that will
O M=ZE2 0|z 232 HAIE MB35 | 2lsh help?

(0) Z7| DI L0 177 ACH= 28 ZZ31 | 21 W:They might be able to extend the date of the

deadline for you.
M: Hmm... | guess | can try.

W:It's only for a few days. The professor will be back
on Tuesday next week. And, um, I'll remind him

about your request right away.
ACthI TeSt 2 M: OK, I'll do that later. But, uh, just in case, do you

think you could still send him an e-mail?
W: Well, all right. SUm, could you give me your e-mail

address and phone number?
Passage 1 M: Thanks! I'll write them down for you on this piece

1(B) 2(C) 3(D) 4 (A) 5(C) of paper.
Note-taking shdnt z 1 Ao|| ChSHE SCAIR.
Student’s Problem M: AELICE K| 0|22 Shawn Kramer®lH|Q, 04, K= Miller w4
Here to pick up a letter of recommendation =S 22 gtSLITE nEHA AFR A AALER?
— Can’t submit my application without the letter W: E[ABHLICE Kramerd|. Miller m2-EIS Sixf otz 7 2at=2o)
Assistant’s Suggestion E% 30/ Hest 20| Aorizte?
Visit the scholarship office and explain your situation M: J™ETQ 8 M FHME 71X 2ol M Halzg AFo| 1
— Might be able to extend the date of the deadline 7 LRSHHER. Miler I4EHAM @5 IZ4S JIX3 27t S
2efu sHi=ER.
Listg? t(?E a conversation between a student and an W: EA|RHR. mALITIA Of3 o Kol  71K| MES =AE
assistant. . _ _ _
2 golo 2AQ.. B... ZISEILICIZ Kramerk|, 017|0fl= &4
M: Excuse me. My name is Shawn Kramer and, 2 28t Al gidlL.
gfr;iCIeT here to see Professor Miller... Is he in his M © OfEBHE mALAA UOJHRIAl ZQ? REA S0l Al
' BMENEY S oo
W:I'm sorry, Mr. Kramer. Professor Miller is currently ) ]
in South Africa on a work trip. Is there anything W: 1 OR 713H0] Q1R[eI7t2?

?
EERE olojoje. XIZ TALH 0jIAS BLFE

Q
A, o, ‘—*Of“EI9P-2E01| AAE S
I+ QOLITMQ. O HAH| O|HIY R THA|

M: 1 see. 'Um, I'm here to pick up a letter of
recommendation. | need it for my scholarship
application. Professor Miller told me to come by
today to pick it up.

W:Hold on. 2The professor gave me some W: 7 E50| EX| 22U 8, nsEHM Ko U= o
documents before his trip. Let me check... Hmm... A AT AXHER. JehM, QIE{SI F&0| o & & Qo]
| apologize, Mr. Kramer, but there is nothing for Q. T2 DAL L2 HiEEA [0S ElolsHA &
you here. =N =i=i=inie}

M: Oh, no. Do you think he forgot? 'l can’t submit my

application without the letter. - = i
W:When is the deadline for the application? W: e deds YEols AS AerdAR. Sido] 58S 39
5t 2301 Qe S S £ 2 4 QISKIE S2te

M: Um, actually, it's this Friday. 3Do you think you can
send the professor an e-mail now? Maybe he can, M: JH & 2220
uh, write the letter while he’s in South Africa. He

0 A2 =0i=L CsH &4 At&2 M2 HackersBook.com
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* Used a mercury thermometer

Celsius

e Based on the melting and boiling points of water
* Almost all countries in the world use this.

Kelvin

e The standard scale in science
e Most detailed and accurate
* Based on the concept of absolute zero

Listen to part of a lecture in a physics class.

P: You may all be familiar with temperature. Simply
said, temperature is a measure of how hot or

PART1. =22p.166
6 (B) 7(C) 8 (B) 9(C)

10 Fahrenheit: (D) Celsius: (B) Kelvin: (A), (C) 11 (B)
Fahrenheit

e The oldest system developed in 1724

cold something is. *Three common scales used
to measure temperature are Fahrenheit, Celsius,
and Kelvin, and this is the topic of today’s lecture.

So, let’s start with the first one... the Fahrenheit
scale. °Plt is actually the oldest system.
Daniel Gabriel Fahrenheit, a Dutch physicist,
developed this scale in 1724. He used a
mercury thermometer that he invented to
measure changes in temperature. “Mercury is
a chemical that quickly reacts to small changes
in temperature, so it is useful for measuring
temperature accurately. On the Fahrenheit scale,
water freezes at 32 degrees and boils at 212
degrees. 8Today, only a few countries still use
this system. These include the United States and
Liberia...

The next one is Celsius. The Celsius scale was
named after a Swedish scientist, Anders Celsius.
He developed his scale in 1742. It was based on
the melting and boiling points of water in normal
conditions of air pressure. Celsius used these
specific conditions because he noticed that air
pressure affects the boiling point of water. You
see, water boils faster when air pressure is low.
°Anyway, based on Celsius, water freezes at
0 degrees Celsius, and it boils at 100 degrees
Celsius. | think this was a major advancement...
Uh, zero and 100 are easier to remember than 32
and 212, right? '®®And | think most of the world
agrees with me. In fact, almost all countries in the
world use this scale every day...

Finally, there is the Kelvin scale... It was invented
by Lord Kelvin, a British philosopher. He started
developing it in the late 1840s. Now, the Kelvin
scale is the standard scale in science. Scientists
prefer it because it is the most detailed and
accurate. It is based on the concept of absolute
zero. "'In physics, absolute zero is the coldest
possible temperature. Um, actually, it’s not
quite that simple... but we’ll cover this in a later
class... For today, just know that absolute zero
is 0 degrees Kelvin. Uh, this is why Kelvin is
considered the most convenient scale to use
by scientists. AThere cannot be any negative
numbers, or numbers lower than zero. So, this
makes it easier to calculate. In, uh, the Kelvin
system, water freezes at 273 degrees and boils
at 373 degrees... The scale is used in digital

Actual Test 2
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Fahrenheit (&) 3

photography to measure the temperature of
colors. °CSimilarly, it is used in astronomy to
measure the temperature of stars... It is even
used in electronics to measure the temperature of
noise... Pretty interesting, huh?
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x—lE xxﬁ/.i 3 |: Sca|e . E}o| pein]
A @) stlel  Celsius (@) Am; (&) Amle]

Kelvin (@) Zigl; (@ ZEIe] Dutch &) Hgzt=9|

physicist 225K} mercury @) 2 thermometer 2L

freeze (5) ¥t boil ) Lt Liberia (@) 2tolt|2|of
Swedish AQdlol  be based on ~0f| 7|=S FCt, ~0f| 7|&5ict
air pressure 7|2t advancement g Lord (@) 4. HE

2 =0{F = kst 8hs X2 M2 HackersBook.com

British 2ol philosopher (&) &stxt

absolute zero M A=

temperature of colors (= color temperature) A2 (22| Mg
SX|2 LIEFH Z)

astronomy (@) #=2st electronics MKt 28t

temperature of noise (=noise temperature) T2 2T (&X|/2|2/2Xt2]

e 458 2% #XIZ LIEtH 2)

Yolo| 8 FH= 2ok

A H2=A9 dYy

(B) 28 S5t Chyst HHS
(© 220 ¥y 0jx|= #Hx 20ls
(D) 20| Afsiel st

W0l GEH, 20| off 20| ARBEIU=7F

2 Hrif €X| et
(B) 3% 37|17t Lk
(O a%2 Hatol| RIZSICE
(D) 222 ©HS| ZELL

W= off 0=} 210H[2[0tS Ygsh=rt

(A 2= FH| AI=E 2= 2l

(B) 2Z LI2toM EF AAES AL H= 242 LIERHZ| 2I5f
(O GMIE TSt LI2tSS 8517] fIsh

(D) 0421 Helo| Fet=E Hlwstr| 25l

M A2 S0 et 40| ofzte 2Sielzh

(A) 2= T%0] L2 BRtARICD 47}
(B) 2= 0 22 Lats

(€ 2= 2zi0] 2 .
(D) 7= 1710| T2 NAYS O} S Metsirta 42fpict

W4 27| THE S5 T9|S0f chsf olop|Bict. Crgel &=0|
Ofil R30| EH9IS MUBH=AIS HAISHAIR
7 5h=0] Bt 712 S2UtA|Q

S | w2
(A) 847} gict v
(B) 7 M0l 712 Bro] AFRE| D Qict v
(0 o] 255 SHsict v
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42|o| YRS ChA| 211 R0 ESH 2.

P: In physics, absolute zero is the coldest possible temperature.
Um, actually, it’s not quite that simple... but we’ll cover this in
a later class... For today, just know that absolute zero is O
degrees Kelvin.

= O ZEtoza RS 2lolsh=o):
P: Um, actually, it’s not quite that simple... but we’ll cover
this in a later class...



PART 2. 22p.168 home that you can borrow. | can bring it for you on

Wednesday if you can’t find a copy anywhere.
1 (D) 2(B) 3 Suggested: (A), (D) Not Suggested: (B), (C)
4 (A) 5(C) S: OK, Professor. | appreciate it. °I'll be back in
around 20 minutes.

SHAHTH WA ALO|Q| CHEIE SOA|Q.

Student’s Question S e AU R M SRR

Can't find a copy of the book S: QHFSIMIL, Stewart -], X|F BIEEMTIQ? S F{=0] o
— Is it possible to change the date of the quiz? SHAZ0| A0IME

Professor’s Suggestion P: @, Ohg, Anita. T5{ OfL|2ICE. Z20] FL|?

e Try searching on the Internet S: 27| & M3|7t BAIQ| Alofl 2t5t 2S 2{0{M F=ZE FH|sH 2
e Check the campus bookstore 712 £[0] YR, THA? BHK|DE S T TS FHS AT} GIOIA
¢ Try a different university library Q. 2X LIE Bt A JsetQ?

* Borrow my personal copy

P: 2 O|QtotX|C Anita, 17| & = QITHC ZF0|A H=E &
. . HIZH AlZtS S&36] 101, Bref L7t X3 S HieChA o
Listen to a conversation between a student and a = SLS ol ZoEa H2ic
professor. = teEtiliEscs Ae
S YUZNGUICE AMY, nEliAM D= L5t 2t M=
S: Hi, Professor Stewart. Are y?u bgsy right now? | B, OIS, o= T 4101012 2 SHX(8 X7} 11 Hoj ChaA =
have a question about Friday’s quiz. i
0% sHoF ete?

P: Oh, hello, Anita. Not at all... What's your question?
, p: st EAZEE o|o| &) B2 7o J=X|?
S: '"Well, um, we’re supposed to prepare for the quiz =M I} 2i2la %2 A0k !

by reading a book about medieval poetry, right? St Ul A7 17H M7 Mg 2 Reld)|, 2E ME0| EE(QI0R. &,
But, um, | can’t find a copy of the book. 2Is it 2010| [}2 sHS0| L2l 74 ZH0te.

possible to change the date of the quiz?
P: Oh, I'm sorry, Anita, but | can’t do that. | gave

everyone enough time to prepare for the quiz. It S: %= SHZo|R, w-E. St FALO|EO|N Bt #ME Aet=r, 04
would be unfair to the other students if | changed 2lo2{H 5|2/H|E LHOF 8. 1A O YIAIO|EQ| FA0[0L.

the date now.

S: | understand. Actually, | thought you might say
that, but | wanted to ask, anyway. Um, but what

should | do about the book? S Ul 2o MEE EHEAIQ. Ha| OfEA o ZX| HE 2
P: You've probably already checked the school 274|e.
library, right? P: A Hfo| CIE SMEE 023 & 4= Q2L

S: Yes. That's the first place | went, but all of their
copies are out. Um, | guess the other students in
class borrowed them. P: OfL| LH 22 CI2 Chst MRS ghst= Haict

P: Yes, | see. Hmm... Did you try searching on the 2k APMZFO1EA| SHOF H=X] YA E = QUS HOE

Internet? S: Ol X | MEK7} B B BHUR. K12 B2 SAz 7}
S: | tried that too, Professor. 4l found a copy on one N 20{8H 70|12

website, but you need to pay for a membership to

read it. Those are the website’s rules. p: Z12ff, T3] O =l=X] 27, o, ES 01F 7 siXl= 8

P: That's a shame. | think websites should make it X|2t, Fof| L7 U 2 Ql= 7118 20| QITTE L7 OfC|of|A

easier to get information. 3*Have you checked the T AS S 4 QITHH L7E QU0 ZEMCHE 4 Qoj.
campus bookstore as well? S | m4k! ZEARBHLICE Bt 208 S0f| CHA| 2412
S: Yes. All of their copies are sold out. | really don’t
know what else to do. medieval (&) ZA4le] poetry (@) Al unfair (&) 22gsk 2okst
P: 3°Maybe you could try a different library outside membership & sl rule & 7, 72  sold out FEe| ofzlEl
the campus. public library 38 =A2t
S: Do you mean a public library? ShS of T2 EopleTp

P: No. | mean a different university library. *Our R ol ol
school librarian can tell you how to do that. (W) 7= 23S =2lot | 7o
(B) ZENE0f| st RS F1517| 2lsH
O Y2 2lst = 1517 | 2|5h

M5
(D) Al o]l it =22 7] 28l

S: Oh! | didn’'t know that was an option... | guess |
could go to the library right now and ask.

=5
TX

ol HJIO

P: Yes, but let me know what happens. °Uh, | don’t
normally do this, but | do have a personal copy at

Actual Test2 65
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PART2. 22p.170
6(A) 7(C) 8 (A) 9 (B) 10(C) 11 (D)

¢ 0222 EfYO| Hol2t= AE Y1 A/ULLR? A, OA
=]

The Milky Way Galaxy

: A collection of stars, dust, gas, and other objects held
together by gravity

* Name: From an ancient myth

® Shape: A spiral

e Size: Only an average size, compared to other galaxies

Listen to part of a lecture in an astronomy class.

P: Did you know that the Sun is a star? In fact, it
is just one of many stars. 6And along with other
stars, it is part of the Milky Way Galaxy. Today, I'm
going to discuss some features of this galaxy.

So, like other galaxies, the Milky Way Galaxy is
a collection of stars, dust, gas, and other objects.
Um, these objects are held together by gravity.
"Think of our solar system... The planets and
everything in it stay together as a group. This is
due to the Sun’s gravity. And galaxies work the
same way. At the center of every galaxy is a large

66 200 M2i2 F0jxk Clost 84 Ak M2 HackersBook.com

black hole with strong gravity.

8Now, you may be wondering why our galaxy is
called the Milky Way... Well, this comes from an
ancient myth. Um, in this myth, a Greek goddess
throws milk across the sky. That's what the Milky
Way looked like to the ancient Greeks. For the
Chinese, it looked like a river made of silver
because the white colored stars looked like a
curved river. And for some Africans, it looked
like a human backbone. So, they called it the
backbone of night. However, its actual shape is a
spiral. °From the side, the Milky Way is shaped like
a flat, thin disk with a bump at its center. Imagine
a pancake with a fried egg on top. It’s thick in the
center and gets thinner towards the edge. It looks
like this because gravity is strongest near the
middle of the galaxy and becomes weaker as you
move away. There are also many other different
shapes and sizes of galaxies.

Anyway, our solar system is found on one tiny
part of the Milky Way. You can hardly see it. It's
somewhere between the middle of the galaxy
and the edge. In fact, our solar system is over
160 million times smaller than the Milky Way
Galaxy. Um, let’s say you can travel at the speed
of light, which is 300,000 kilometers per second.
It will take you 25,000 years to go from our solar
system to the middle of the galaxy... And, uh, it
would take 100,000 years for you to go from one
side of the galaxy to the other. ""Because of the
Milky Way’s size, it's impossible to count all of the
stars in it. Astronomers say there are hundreds of
billions of stars. That is impressive, for sure. But,
um, compared to other galaxies, this is only an
average size!
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HOJEISE OffX|7| THR0M| O[] 2O ZYLICE O Ciest PART2. 22p.172
ChE 2¢ut 379 23AIEE U012 12(8) 13(C) 14(A),(B) 15(C) 16(B) 17(D)
OIS, 92|0] Effil= 2312 O XHe B0 Wris|=r

2 A2 el 2o[X| ‘Ea*%'—lﬁf —3f71|9—| S IFIRI2| A

Speed Limit Laws
259t o ol W\l—ltk 8. e

=
Z 0|5E 4 Tt sHiFAICE R2[2] EfFAOIA 25tA2] &t
2Oo7EA| 7hz o 22t 53 Ho] 2 FLtt. 122(2, of, 235t

¢ 1910: Connecticut, the first state to set a limit for

driving speeds
* 1974: A national speed limit law for all states

79| 20l B ZO 2 Jh= Hjof= 108t Ho| Z2E A2

Ssfo| 72 TR0l, 1 oo Y= PE USES M= A= EIls Alcohol Laws

S2. HPBIAISES 271 JHol Ho| Qickn Ws=gl2. 1% Made and carried out by states

QIYEO|Z, EHA5|R. SHX|Tt 8, CHE 2otAISH H|wstH, 0] Traffic Light Laws

W2 AL Yo A7|gH e Helped drivers avoid accidents in intersections

Seatbelt and Airbag Laws
Milky Way Galaxy 2314 feature EX, EM 9

galaxy (@) 2517 solar system e gravity (@) £ Combined use of seatbelts and airbags reduced accident

black hole 2242 myth @ Alst  curved @) 22, =M Dok deaths.
spiral (@) L&, LM disk (@) fet
bump (&) Foit2 £ (8) PRIt astronomer (@) HESHAt Listen to part of a lecture in a history class.
2ol= =2 2oiof| B+t Zi0l7p? P: Before 1900, there were very few automobiles

in America. Then, in the early 1900s, more and

o5iH0] EX|
(A =ote 8 more cars were produced and sold. However,

(B) EfO| OEH| HY ==X one outcome of more cars was an increase in
(O =21 37]| accidents. '?This caused leaders to consider
(D) S 2ojo 2 HE0{R =X safety laws for the first time. Now, let's look at the
evolution of automobile safety laws in America...

w0l MEH, 28k 22|29 EfALL 0187 X872 Uh, the most common traffic laws to be made
(A) 1SS S5t Dore 71X T 9lCh were speed Iimits_. _Leaders in some _states
() 121S D= ST Ee 7T ot realized .that fast driving cguld cause accnder)ts.

—AE LT S E= M 18/14AS0, in 1910, Connecticut became the first
(O IHE2 F2o= sl A QUCk state to set a limit for driving speeds. Then, in
(D) D=L Hlof| =AFSH2|7L O #lCt 1974, a national speed limit law was created for

all states. This happened during the middle of an
S35t 0{C|of|M 0|2S YT oil crisis, and it was hoped that people would use
less gas. "“BHowever, it also reduced the number

(W) AL0I0P | =2E of deaths from traffic accidents. Even though

B) 12|A0{ HIO{2HE safety was not the original reason for the law, it
O RYst HEEZRE made driving safer.

(D) &= a2 Laws for driving after drinking alcohol have a

similar history. Laws were first introduced in

naE 2ote| Hrg 08| MYsh=7}? states like New Jersey, New York, and California

in the early 1900s. Drivers who got caught usually
paid a fine and spent some time in jail. Though

® g‘%E = “%% FARICEMN national laws exist, most alcohol-related driving
(© &e SIUE Ao =M laws are still made and carried out by states. And,
(D) CIE HYES H|WEoZMN uh, the laws in each state are different. '5In most
cases, the alcohol laws for professional drivers
EHQEA|Of| CHEH 40| 2|74 Zoiol7|? like truck drivers are more strict than laws for
- _ other drivers.

(A) 2HE 252 523 F20|Ck o )
(B) 1S ==t A4%0] olc} OK What else. Oh,_ the traffl_c ||ght._.. Traff_lc
(©) 7 Slopta|7 7 ofzick !lght Iaw§ helped Firlvers avgld _acmdepts in
—AE = = intersections. ®Without traffic lights, it was
(D) 272 E05t ZYnt FRE 7HX| T ULk extremely hard for drivers to know when to go
and when to stop. Colored traffic lights make this
W= 2610] 2al| FAS YAGH=TR simple. Green means go, yellow means slow

(A) 70| Z2ie D2 HMCH down, and red means stop... Quite easy, isn't it?
(B) 11742 A|Zt0| K|ty th2t ZHOFE! Z40|C} Even with all of these improvements, many
() 27i0| H=2 £}2 Hswr) o i) peo_ple still were badly injured or klllgd when
_ accidents occurred. Then seatbelt requirements

(D) 2232 7t 2 2514 & otz OfLCh.
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came in the 1960s, and airbag requirements
came in the 1990s. Seatbelt and airbag laws
could not prevent accidents. But, they became
the most effective laws for the safety of people in
accidents. 'In fact, the combined use of seatbelts
and airbags reduced automobile accident deaths
by 80 percent. So even though your car has an
airbag, don’t ever forget to wear your seatbelt!
They might save your life one day...
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